
 
 

 
 
 

 
 
 
 
 
 
 

Price  List 
 

for 
 

Equipment  Spare  Parts 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

Part  No.  450347  Rev. R 
Effective  May 15, 2019 

 



 
 

 



 

 
 
 
 
 

TABLE OF CONTENTS 
 
 
 Page 

SPARE PARTS PRICE LIST ..........................................1 

TUBING ..........................................................................30 

DISPOSABLE SUPPLIES ..............................................30 

EXCHANGE PARTS PRICE LIST ................................31 

REPLACEMENT PARTS TERMS OF SALE ...............32 

EXCHANGE PARTS TERMS OF SALES ....................33 

RGA POLICIES AND PROCEDURES ..........................34 

INSTRUCTIONS TO RETURN PARTS ........................35 

MATERIAL TRAVELER TAGS ...................................36 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 Copyright 1998 - 2019 Fresenius Medical Care, all rights reserved 
 
Fresenius Medical Care, the triangle logo, 2008, 2008K@Home, BlueStar, Clinical Data Exchange (CDX), 
GranuFlo, bibag, WetAlert, IQDrive and Diasafe are trademarks of Fresenius Medical Care Holdings, Inc. 
or its affiliated companies.  Citrasate is a registered trademark of Advanced Renal Technologies, Inc. in the 
United States and used under license from Advanced Renal Technologies, Inc.  All other trademarks are the 
property of their respective owners. 



 
 



FRESENIUS MEDICAL CARE - SPARE PARTS PRICE LIST 
Part# Description BlueStar Price U/M 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

450347 Rev R 5/15/2019 PAGE 1 

150013 TRIMMER ADJUSTMENT TOOL   $        8.94  EA 
150034 FRESENIUS TEST KIT   $    552.69  EA 
150043 DISINFECTION KIT FRESENIUS   $      47.23  EA 
150071 DRAIN BUCKET ASSY (SALINE)   $      31.71  EA 
150105 ASSEMBLY, ACUTE CASTER KIT   $    505.72  EA 
150122 DUAL RIBBON CABLE   $      41.41  EA 
150173 DRIP CHAMBER HOLDER, ARTERIAL   $      26.56  EA 
150207 ASSY, CHECK VALVE 3 GRAM, ORANGE   $      21.07  EA 
150377 LD SENSOR PAIR,W/PLUG (M30402)   $    163.17  EA 
150390 ASSEMBLY, 'Y' CABLE, CMS208K   $      43.43  EA 
150394 ASSY, RS-232 TERMINAL CABLE   $      82.31  EA 
150408 ASSY, PUMP MOD., MARCH, 1/2 HP, ROTATED   $ 1,070.71  EA 
150413 ASSY,CABLE RETRACTILE 9 COND.   $    379.04  EA 
150425 2008H/K POWER SUPPLY CABLE ASSEMBLY   $      54.69  EA 
150440 UPPER LEVEL SENSOR, CONTACT TECH SUPPORT   $    300.55  EA 
150443 ASSY, LEVEL SENSOR, DISS. UNIT   $    243.03  EA 
150445 FILL/DRAIN VALVE ASSY, DISS.UN   $    418.11  EA 
150478 CABLE, A&D BLOOD PRESSURE   $      59.14  EA 
150481 CABLE, M-2600 BLOOD PRESSURE   $      66.99  EA 
150482 KIT, GRANUFLO POWER SWITCH ELIMINATION   $      43.40  EA 
150526 CABLE, A&D TM2915FR BLOOD PRESSURE   $      31.02  EA 
150537 ASSEMBLY, BICARBONATE JUG III   $      33.04  EA 
150538 ASSY, BICARBONATE WAND III   $      27.96  EA 
150568 ASSY, CHECK VALVE,  ULTEM,3 GRAM,NATURAL   $      17.68  EA 
150570 CHECK VALVE,UF PUMP,ULTEM,15#,WAS 150123   $      16.35  EA 
150589 ASSY, BICARB JUG III, NO WAND   $        7.20  EA 
160001 KEYPAD, SWITCH PANEL, GRANUFLO (BUY)   $      81.66  EA 
160002 DISPLAY BOARD ASSEMBLY (BUY)   $    372.49  EA 
160010 CPU, PROGRAMMED, GRANUFLO II   $      25.82  EA 
160018 BALL VALVE CABLE ASSEMBLY   $    462.02  EA 
160024 DIN CONNECTOR ASSEMBLY   $      19.00  EA 
160027 TANK DRAIN ASSEMBLY   $    312.77  EA 
160034 25 GALLON SENSOR ASSEMBLY   $      80.17  EA 
160036 SPRAY NOZZLE ASSY   $    137.98  EA 
160037 TRANSFORMER ASSEMBLY   $      47.14  EA 
160039 POWER BOARD ASSEMBLY (BUY)   $    250.91  EA 
160042 NOZZLE SUB-ASSEMBLY A   $      89.80  EA 
160045 MOTOR ASSEMBLY   $ 1,156.44  EA 
160055 FILTER BASE ASSEMBLY (BUY)   $      79.00  EA 
160059 ASSEMBLY, STANDPIPE, GRANUFLO II   $    209.40  EA 
160060 SYSTEM CABLE HARNESS (BUY)   $    708.91  EA 
160062 PUMP DRY SENSOR   $    171.27  EA 
160063 NOZZLE SUB-ASSEMBLY B   $      31.30  EA 
160064 ASSY, CABLE, SOLENOID VALVE   $    691.15  EA 
160065 GRANUFLO II TANK, SET UP KIT   $    567.40  EA 
160068 ASSY, GRANUFLO I DISPLAY BOARD (BUY)   $    429.04  EA 
160069 CPU, PROGRAMMED, GRANUFLO I   $        8.18  EA 
160070 CONTROL CONSOLE ASSY, GRANUFLO I   $ 1,235.12  EA 
160074 ASSY, GRANUFLO I TRANSFORMER   $      46.72  EA 
160075 MOTOR, MODIFIED MIXER   $    349.38  EA 
160081 GRANUFLO I LOW-MID-TOP SENSOR HARNESS   $      25.16  EA 
160083 ASSY, GRANUFLO I MIX MOTOR CABLE   $      39.56  EA 
160084 ASSY, GRANUFLO I PUMP CABLE   $      35.69  EA 
160086 GRANUFLO I TRANSFER-SPRAY VALVE CABLE   $      15.83  EA 
160087 ASSY, GRANUFLO I DRAIN VALVE CABLE   $      19.84  EA 
160088 ASSY, GRANUFLO I INTERNAL POWER CABLE   $      13.34  EA 



FRESENIUS MEDICAL CARE - SPARE PARTS PRICE LIST 
Part# Description BlueStar Price U/M 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

PAGE 2 5/15/2019 450347 Rev R 

160089 ASSY, GRANUFLO I POWER CORD   $      42.33  EA 
160090 ASSY, GRANUFLO II MID LEVEL SWITCH   $      80.00  EA 
160091 SPINNER ASSEMBLY REPLACEMENT KIT   $    114.09  EA 
160093 ASSY, SPEEDFIT TEE, 3/8" TUBE   $      19.81  EA 
160094 ASSY, WATER VALVE, GRAY   $      27.85  EA 
160095 ASSY, ACID VALVE, RED   $      51.37  EA 
160096 ASSY, BICARB VALVE, BLUE   $      51.37  EA 
160098 ASSY, GRANUFLO II POWER CORD   $      91.67  EA 
160099 ASSY, SPEEDFIT, BICARB (BLUE)   $      88.54  EA 
160100 ASSY, MID-LEVEL WIRE CONNECTOR   $      19.60  EA 
160101 ASSY, SPEEDFIT, ACID (RED)   $      39.74  EA 
160102 ASSY, SPEEDFIT, ACID (ORANGE)   $      39.74  EA 
160104 KIT, GRANUFLO II MID-LEVEL SENSOR UPGRAD   $      82.35  EA 
160110 CABLE, 25 GAL SENSOR, DISSOLUTION UNIT   $      10.18  EA 
160111 GRANUFLO I TRANS-SPRAY VALVE CABLE FIELD   $      27.04  EA 
160112 ASSY, GRANUFLO I FILL VALVE CABLE, FIELD   $      26.83  EA 
160113 CABLE,TOP LEVEL SENSOR, DISSOLUTION UNIT   $      14.23  EA 
160114 CABLE, SENSOR, LOW, DISSOLUTION UNIT   $      10.18  EA 
160115 CABLE, SENSOR, MID, DISSOLUTION UNIT   $      10.18  EA 
160116 SINGLE STATION INSTALLATION KIT   $      84.79  EA 
160117 DOUBLE STATION INSTALLATION KIT   $    115.93  EA 
160118 AYER STATION INSTALLATION KIT   $      72.23  EA 
160120 SINGLE WALL INSTALLATION KIT   $      69.09  EA 
160122 KIT, GRANUFLO I CONTROL PANEL RETROFIT   $ 1,492.83  EA 
160125 KIT, GRANUFLO II WATER INPUT UPGRADE   $    867.66  EA 
160127 ASSY,MODIFIED RECIRCULATION MOTOR   $    789.65  EA 
160128 ASSY, FLARELINK PFA WATER   $    104.17  EA 
160131 TRANSFER/RECIRC VALVE RETROFIT ASSEMBLY   $ 1,009.34  EA 
160134 KEYPAD SWITCH PANEL,DRY ACID 132 GALLONS   $    155.44  EA 
160136 ASSEMBLY,FRONT PANEL DRY ACID,99 GALLONS   $    493.98  EA 
160142 CONTROL CONSOLE ASSY, DRY ACID 132   $ 1,412.91  EA 
160149 FUSE HOLDER AND FUSE ASSY   $      18.27  EA 
160150 ASSEMBLY, DRY ACID 132 POWER CORD   $      67.76  EA 
160151 DRY ACID 99 SYSTEM CABLE HARNESS   $    803.09  EA 
160154 ASSY, MIXER MOTOR SHAFT   $    323.62  EA 
160157 CITRASATE DRY ACID UPDATE KIT, 99 GALLON   $      37.97  EA 
160158 CITRASATE DRY ACID UPDATE KIT,132 GALLON   $      37.97  EA 
180202 IQDRIVE 4GB OR HIGHER, FORMATTED   $      16.22  EA 
190005 ACTUATOR CABLE, 2008H/K (BUY)   $      41.45  EA 
190006 SENSOR CABLE, 2008H/K (BUY)   $      36.23  EA 
190013 ASSEMBLY, HEATER CABLE   $    168.32  EA 
190015 FRONT PANEL DATA CABLE   $      19.05  EA 
190019 ASSY., LP728 POWER CONTROL BOARD   $      94.19  EA 
190034 EPROM, PROG. 2008H ACTUATOR BOARD V2.66   $      63.87  EA 
190047 MAIN POWER CABLE, U.P.S.   $      41.25  EA 
190054 ASSY, TRIAC,POWER SUPPLY,2008H/K   $      62.15  EA 
190055 RELAY ASSY,POWER SUPPLY, 2008H/K   $      32.58  EA 
190060 RESISTOR PLUG SET FOR CALIBRATION   $      22.12  EA 
190070 CABLE,FUNCT FDSO8 OPTION   $      28.41  EA 
190072 EPROM,PROG.2008H FUNCTIONAL BOARD V8.92C   $      63.87  EA 
190078 ASSEMBLY, PRESS TRANS W/TUBE   $    124.32  EA 
190090 ASSY., FUNCT. TRANSTERM CABLE OPTION   $      11.90  EA 
190091 ASSY,CABLE,FUNCTIONAL/TRANSTERM/CMS208K   $      10.84  EA 
190092 ASSY, POWER SUPPLY 130V 50HZ   $    655.58  EA 
190098 2008K SERIES PM KITS   $      77.63  EA 
190099 ASSY, -12V DC/DC CONVERTER   $      69.08  EA 



FRESENIUS MEDICAL CARE - SPARE PARTS PRICE LIST 
Part# Description BlueStar Price U/M 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

450347 Rev R 5/15/2019 PAGE 3 

190100 CABLE, INTERNAL BPS08   $      48.43  EA 
190104 ASSY, TRAFFIC LIGHT CABLE   $      19.46  EA 
190111 FIELD GROUNDING KIT   $      36.58  EA 
190113 ESD GROUND HARNESS   $      38.45  EA 
190124 HEPARIN INTERFACE CABLE   $      19.69  EA 
190140 ASSY,2008H PRES.TRANSDUCER   $    124.32  EA 
190163 ASSY., FRONT PANEL INTRFC.BD W/ SOFTWARE   $    142.53  EA 
190164 ASSY., 2008K MUTE/RESET LED BOARD   $      25.77  EA 
190165 ASSY., 2008K POWER LED BOARD   $      21.37  EA 
190168 RESISTOR PLUG SET, OLC TESTING   $      11.59  EA 
190191 ASSY, INVERTER CABLE, NEC LCD DISPLAY   $      26.80  EA 
190194 ASSY. 2008K DISPLAY DATA CABLE   $      56.90  EA 
190200 ASSY. FRONT PANEL DATA CABLE   $        8.47  EA 
190206 ASSY, PANEL, LOWER REAR, 2008K/K2   $    137.27  EA 
190207 ASSY, PANEL, LOWER REAR, 2008K, DIASAFE   $    186.69  EA 
190209 ASSY, PANEL, LOWER REAR,2008K,RO-DIASAFE   $    259.53  EA 
190211 ASSY,PNL,LOWER REAR,2008K,MOD.CAB.DIASAF   $    289.19  EA 
190212 ASSY, PANEL, UPPER REAR, 2008K   $      51.81  EA 
190221 2008 MACHINE STATUS LIGHT   $    144.39  EA 
190222 ASSY, BLOOD PUMP FLASH PROGRAMMING CABLE   $      14.33  EA 
190225 ASSY, CABLE, M2000 BLOOD PRESSURE MODULE   $      31.78  EA 
190232 ASSY., 2008K MOTHERBOARD   $    230.59  EA 
190246 ASSY., 2008K POWER LOGIC BOARD W/-12V   $    297.24  EA 
190247 CABINET, 2008K   $    905.58  EA 
190273 WIRE ASSY, 3.75" BLACK   $        7.45  EA 
190274 WIRE ASSY, 4.50" WHITE   $      78.68  EA 
190276 2008K TEST BOARD SOFTWARE   $      66.42  EA 
190278 2008 MACHINE RED STATUS LIGHT   $    113.10  EA 
190280 ART. DRIP CHAMBER HOLDER MOUNTING KIT   $        2.22  EA 
190314 ASSY, MOLDED MIXING CHAMBER AND BRACKET   $      51.74  EA 
190323 PROGRAM LOADER, COMPUTER ADAPTER   $      29.09  EA 
190324 ASSEMBLY,REAR PANEL,DIASAFE PLUS,2008 SE   $    112.74  EA 
190325 ASSY, DIASAFE PLUS KIT, 2008K W/ DIASAFE   $    285.14  EA 
190326 KIT, MACHINE RED STATUS LIGHT   $    120.20  EA 
190331 SHUNT HOUSING 2008K, FINISHED W/ INSERTS   $    125.62  EA 
190332 ASSY, SENSOR BOARD   $    618.80  EA 
190343 ASSY, CABLE FOR NEC 104PW161 INVERTER   $      10.64  EA 
190352 KIT, S.F. EEPROM, 2008K, 1.5X AUTO FLOW   $        7.90  EA 
190353 KIT, S.F. EEPROM, 2008K, OLC   $    410.80  EA 
190358 MONITOR HARNESS   $      18.71  EA 
190362 ASSY,REAR PNL,LWR,2008K,MOD.CAB,DIASAFE+   $    226.60  EA 
190365 KIT, 2008K, DIASAFE PLUS - STD. CAB.   $    608.33  EA 
190387 ASSY, @HOME MUTE/RESET BOARD   $      67.42  EA 
190389 ASSY,@HOME FRONT PANEL INTRFC.BD W/SOFTW   $    255.58  EA 
190394 ASSEMBLY, FRONT PANEL, 2008K@HOME   $    748.76  EA 
190400 ASSEMBLY FRONT PANEL 2008K ALTERNATE   $    490.38  EA 
190402 KIT, SOUND DAMPENING, MODIFIED CABINET   $    283.18  EA 
190403 PRIMING BAG HOLDER KIT, MODIFIED CABINET   $        8.05  EA 
190407 WIRE ASSY, 5.00" BLACK   $        0.82  EA 
190408 WIRE ASSY, 6.00" WHITE   $        0.85  EA 
190409 WIRE ASSY, 4.00" BLACK   $        7.45  EA 
190410 WIRE ASSY, 5.00" WHITE   $        7.47  EA 
190411 WIRE KIT FOR 2008 POWER SUPPLY   $      35.62  EA 
190421 ASSY, REAR PANEL 2008K RO-DIASAFE PLUS   $    330.56  EA 
190432 CITRIC ACID CLEANING KIT   $      34.79  EA 
190442 WETALERT RETROFIT KIT 2008K@HOME   $ 1,019.20  EA 



FRESENIUS MEDICAL CARE - SPARE PARTS PRICE LIST 
Part# Description BlueStar Price U/M 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

PAGE 4 5/15/2019 450347 Rev R 

190445 KIT, 2008K ONLINE CLEARANCE INSTALLATION   $    193.25  EA 
190476 ASSY, 2008K FRONT PANEL W/O LCD ASSY   $    686.47  EA 
190481 KIT, 2008K BP FACE PLATE REPLACEMENT   $    243.73  EA 
190482 KIT, 2008K LD FACE PLATE REPLACEMENT   $    198.60  EA 
190483 KIT, 2008K HEP PUMP FACE PLATE REPLACE   $    173.77  EA 
190493 KIT, MACHINE STATUS LIGHT, 2008K, RCG   $    211.18  EA 
190498 AQUABOSS FIRST INSTALLATION PLUS KIT   $    624.00  EA 
190500 ASSY., MOTHERBOARD   $    217.02  EA 
190511 ASSY, 2008K DISPLAY DATA CABLE 2   $      89.01  EA 
190520 FRONT PANEL ASSEMBLY, 2008K, SPANISH   $    498.63  EA 
190525 ASSY, CABLE, BIBAG CLAMP   $        5.91  EA 
190544 ASSY, BIBAG INTERFACE BOARD W/SOFTWARE   $    201.48  EA 
190548 ASSY, CABLE, 2008T VIDEO INVERTER   $      19.93  EA 
190550 ASSY, CABLE, 2008T LVDS VIDEO   $    108.02  EA 
190553 ASSY, CABLE, DISPLAY DATA CABLE   $      72.23  EA 
190561 TOUCHPAD ASSY   $    311.84  EA 
190591 BIBAG HYDRAULICS COMPLETE, SEE M40090   $    537.12  EA 
190593 CARTON, PRINTED, TALL CABINET 2008   $    295.97  EA 
190598 ASSY, BIBAG HOLDER COMPLETE, SEE M39213   $    283.67  EA 
190599 KIT, TM-2915 BPM UPGRADE   $    324.38  EA 
190600 ASSY., 2008T VOLTAGE EXTENDER BOARD   $      40.03  EA 
190601 BIBAG TUBE, 21.5" LABELED #1   $        6.22  EA 
190602 BIBAG TUBE, 19", LABELED #2   $        5.20  EA 
190605 ASSY, 2008K/K2 FRONT PANEL INTR BD W/ SW   $    132.16  EA 
190613 ASSEMBLY, FRONT PANEL, 2008K2   $    376.36  EA 
190615 ASSY, CABLE, 2008T USB REAR ADAPTER   $      37.03  EA 
190616 ASSEMBLY, 2008K2 FRONT PANEL, SPANISH   $    430.46  EA 
190625 ASSY, 2008T IT SYSTEM SPEAKER   $      52.09  EA 
190641 ASSY, 2008K2 FRONT PANEL W/O LCD ASSY   $    411.47  EA 
190656 KIT, M3600 BPM UPGRADE   $    328.59  EA 
190670 ASSY, BIBAG DISTRIBUTION CABLE 2   $      12.17  EA 
190673 BIBAG AIR SEPARATION CHAMBER   $      96.10  EA 
190679 KIT, INTEGRATED AUTO DISINFECT OPTION   $    101.23  EA 
190681 ASSY, 2008T UI-MICS W/SOFTWARE, W/O CDX   $    253.66  EA 
190691 2008T CDX FASCIA ASSY   $ 1,800.17  EA 
190697 ASSY, CABLE, 2008T WIRELESS NETWORK   $      41.69  EA 
190709 ASSY, BRAKE SHAFT   $    120.39  EA 
190714 KIT, 2008 POWER SUPPLY CORD REPLACEMENT   $      54.69  EA 
190715 ASSY, 2008T USB FRONT PORT BOARD W/CABLE   $      44.39  EA 
190731 ASSY, CDX COMPACT FLASH CARD WITH OS   $    154.37  EA 
190737 FASCIA REPLACEMENT   $    222.85  EA 
190755 KIT, 2008T CDX & S/W TEST   $    299.69  EA 
190756 2008T USB CDX TEST SCRIPT 3.0   $      29.58  EA 
190761 2008T CABINET SUBASSEMBLY W/ENHANCEMENTS   $    993.45  EA 
190819 KIT, 2008K@HOME TUBING SUPPORT   $      19.41  EA 
190825 ASSY, KEYBOARD W/ FUNCTION LOCK LED -BUY   $    322.21  EA 
190836 2008K@HOME UPGRADE KIT   $      24.56  EA 
190843 ASSY, CABLE, 2008T LVDS VIDEO, NON-INVER   $      47.83  EA 
190844 2008T DISPLAY ASSY   $    770.36  EA 
190856 KIT, 2008T KEYBOARD REPLACEMENT   $    271.10  EA 
190860 ASSY, GEN2 HYDRAULICS DISTRIBUTION BOARD   $      29.78  EA 
190865 ASSY, CABLE,GEN2 HYDRAULICS DISTRIBUTION   $      44.34  EA 
190869 GEN2 BIBAG ASSY   $    397.05  EA 
190877 GEN 2 BIBAG TUBE, 21.5" LABELED 1   $      20.89  EA 
190878 2008K SERIES, SEMI ANNUAL PM KIT   $      12.46  EA 
190892 2008 ANNUAL PM KIT, DAVITA   $      80.63  EA 



FRESENIUS MEDICAL CARE - SPARE PARTS PRICE LIST 
Part# Description BlueStar Price U/M 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

450347 Rev R 5/15/2019 PAGE 5 

190893 2008K@HOME WETALERT STARTER KIT   $ 1,019.20  EA 
190911 KIT, 802.11 B/G/N NETWORK ADAPTER   $      56.51  EA 
190915 2008T CDX TEST KIT UPGRADE   $      88.74  EA 
190932 ASSEMBLY, 2008K SHUNT, ROSE GREY,FERRITE   $    237.68  EA 
190934 REBUILD KIT FOR INLET PRESSURE REGULATOR   $      12.76  EA 
190937 ASSY, POWER CONTROL BOARD   $    112.46  EA 
190953 BLOOD PUMP COVER REPLACEMENT KIT   $      14.46  EA 
190958 ASSY, CABLE , BIBAG VALVE 108   $        2.18  EA 
190959 ASSY, BIBAG VALVE 108   $      87.04  EA 
190988 WET ALERT TRANSMITTER   $    206.96  EA 
190991 ASSY., AIR SEPARATOR ADAPTER BOARD   $      31.75  EA 
190992 ASSY, ALTERNATE DISINFECTANT WAND   $      44.42  EA 
190997 ENHANCED BACK-FLOW PREVENT RETROFIT KIT   $        0.01  EA 
191004 ASSY, CABLE, 2008T LCD BACKLIGHT   $      18.75  EA 
191005 ASSY,BACK FLOW RETROFIT KIT (HYDROBLOCK)   $        0.01  EA 
191010 ASSY, ACETIC ACID JUG, AG   $      34.43  EA 
191011 KIT, AIR SEPARATOR ADAPTER BOARD   $        0.01  EA 
191021 JUG WAND, RED, WITH ADDENDUM   $      20.53  EA 
191022 JUG WAND, BLUE, WITH ADDENDUM   $      30.07  EA 
191023 JUG WAND, WHITE, WITH ADDENDUM   $      42.85  EA 
191036 ASSY, TRIAC, POWER SUPPLY, 2008 SERIES   $      30.26  EA 
191049 ASSY, 2008K@HOME LCD CABLE KIT   $        0.01  EA 
191076 KIT, SPEC FEATURES EEPROM, 2008 SER SLED   $ 2,600.00  EA 
191106 2008T ANNUAL PM KIT, DAVITA   $      80.63  EA 
191107 2008T SEMI-ANNUAL PM KIT   $      12.46  EA 
191108 2008T ANNUAL PM KIT   $      77.63  EA 
191109 ASSY, KEYBOARD BLUESTAR   $    240.55  EA 
191113 TUBING ORGANIZER FACE PLATE ASSY.   $      57.89  EA 
191115 KIT, HOOK FOR EXTENDED LINES *  $      20.89  EA 
191117 ASSY, UI-MICS BOARD WITH SW AND NO PC   $    263.66  EA 
191121 ASSY, REAR PANEL BLUESTAR   $      96.85  EA 
191122 ASSEMBLY, UPPER REAR PANEL BLUESTAR *  $      71.54  EA 
191142 ASSY, SENSOR BLUE STAR BOARD *  $    227.49  EA 
191158 2008T BLUE STAR CDX FASCIA ASSY   $ 1,199.72  EA 
191164 2008T DISPLAY ASSY, BLUESTAR  *  $    485.87  EA 
191175 2008T BLUESTAR PREMIUM ONE YEAR PM KIT  *  $      52.96  EA 
191192 KIT, BLUE STAR KEYBOARD REPLACEMENT *  $    240.55  EA 
191193  LINUX OS INSTALLER USB PROGRAMMED   $      26.28  EA 
191200 KIT, 2008T CDX 8GB MEMORY UPGRADE   $    247.50  EA 
220429 PLUG, 1/4" MALE GRATEC #8002   $        4.85  EA 
230103 FITTING, GRATEC 1/4" BARB   $        5.84  EA 
230238 FITTING, 3/16 BARB->GRATEC   $      10.57  EA 
250068 DUAL VALVE BLOCK W/INSERTS   $      45.60  EA 
250070 PLATE, ADAPTOR, (TALL)   $      50.67  EA 
250098 CABINET, MOLDED   $    381.38  EA 
250108 PLATE, SALINE BUCKET   $      14.03  EA 
250115 ACUTE HANDLE BRACKET   $      36.84  EA 
250128 HEADER WRENCH   $      60.80  EA 
250131 SEAL STRIP, MODULE   $        3.00  EA 
250139 DISPLAY BEZEL   $    238.85  EA 
250169 HEATER, 120V-FRESENIUS   $    155.40  EA 
250279 DRAIN BUCKET REWORK   $      15.36  EA 
250298 SUPPORT RAIL RIGHT,HYDRAULIC CHASSIS   $      12.24  EA 
250299 SUPPORT RAIL LEFT, HYDRAULIC CHASSIS   $      12.24  EA 
250367 KEYBOARD, CMS208K, ELASTOMER COVER   $    561.46  EA 
250374 KEYBOARD STOP, CMS208K   $      36.70  EA 



FRESENIUS MEDICAL CARE - SPARE PARTS PRICE LIST 
Part# Description BlueStar Price U/M 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

PAGE 6 5/15/2019 450347 Rev R 

250397 VALVE, BALL, TRUE UNION, MOD.   $    101.48  EA 
250402 GUARD, SPLASH, NAT. MIXER   $      24.20  EA 
250403 DEFLECTOR, WATER, NAT. MIXER   $      48.36  EA 
250441 DUAL VALVE BRACKET "DIASAFE"   $      18.29  EA 
250473 BLOOD PUMP SPRING REVISED   $        4.84  EA 
250476 LEVEL DETECTOR WRENCH   $      36.20  EA 
260001 REDUCER, BUSHING MALE THREAD   $    148.60  EA 
260008 SPINNER   $    125.62  EA 
260025 BASE FILTER ROD   $      58.46  EA 
260026 VERTICAL COVER   $    230.92  EA 
260029 FRONT ACCESS PANEL   $    144.42  EA 
260030 FILTER SUPPORT   $    117.16  EA 
260044 SPINNER WASHER   $      34.55  EA 
260046 SIDE ACCESS PANEL   $      36.31  EA 
260051 VALVE BRACKET   $      44.37  EA 
260056 FRONT PANEL GASKET, GRANUFLO II   $        7.36  EA 
260057 STRAIN RELIEF PLATE   $        7.38  EA 
260059 TRANSFER HOSE SUPPORT   $      42.32  EA 
260061 TANK SENSOR ADAPTER   $    107.79  EA 
260068 SWITCH PLATE   $      33.99  EA 
260069 SWITCH PLATE GASKET   $        1.11  EA 
260071 BRACKET, MOUNTING, VALVE PANEL   $      20.69  EA 
260072 SCREEN, DRAIN, VALVE PANEL   $        2.45  EA 
260078 ADAPTER, MODIFIED, DRAIN   $        4.94  EA 
290012 DISPLAY TRAVERSE BAR   $      16.69  EA 
290023 REAR PANEL, POWER SUPPLY, UPPER   $      36.06  EA 
290030 TRANSFORMER, PSW UPPER   $    276.42  EA 
290048 PLATE, PWR CNTRL BD, UPPER   $      18.86  EA 
290056 CLAMP PLATE, STRAP   $      26.71  EA 
290068 HOLD DOWN BRACKET   $      13.79  EA 
290069 HOOK - HYDRAULIC   $        6.77  EA 
290070 NUT PLATE, UPPER POWER SUPPLY   $        5.14  EA 
290075 2008H/K BLOOD PRESSURE BRACKET   $      24.20  EA 
290084 TRANSFORMER, PSW UPPER 130V 50HZ   $    362.61  EA 
290104 BURET, MODIFIED   $    186.23  EA 
290155 SEAL, FRONT PANEL, 2008K   $      36.20  EA 
290160 SUPPORT, MONITOR CHASSIS, 2008K   $      44.49  EA 
290172 I.V. POLE HOLDER, FINISHED, LOWER, 2008K   $      61.18  EA 
290204 BRACKET, MIXING CHAMBER MOLDED   $      24.53  EA 
290212 BRACKET, DIASAFE PLUS   $      24.41  EA 
290229 BRACKET, HEATER   $      28.28  EA 
290257 TOUCH-UP *PAINT*, ROSE GREY LIGHT   $      26.57  EA 
290317 LED, GREEN, STATUS LIGHT   $        7.58  EA 
290318 LED, YELLOW,  STATUS LIGHT   $        7.58  EA 
290319 LED, RED, STATUS LIGHT   $        7.58  EA 
290357 ENCLOSURE, BIBAG DISTRIBUTION   $        6.39  EA 
290401 KEYPAD OVERLAY 2008T   $      64.96  EA 
290405 USB FLAP 2   $        4.79  EA 
290517 BIBAG AIR SEPARATION BODY   $      11.35  EA 
290518 BIBAG AIR SEPARATION TOP   $      10.48  EA 
290536 2008T UPPER POLE MOUNT   $      50.64  EA 
290562 SHUNT COVER   $      27.60  EA 
290583 SEAL 3/8, CHASSIS T MACHINE   $      18.14  EA 
290585 TUBING ORGANIZER   $        6.53  EA 
290644 MONITOR CHASSIS, 2008T ALT. HOUR METER   $      70.16  EA 
290645 MONITOR CHASSIS, 2008K ALT. HOUR METER   $      62.46  EA 



FRESENIUS MEDICAL CARE - SPARE PARTS PRICE LIST 
Part# Description BlueStar Price U/M 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

450347 Rev R 5/15/2019 PAGE 7 

290684 BOX, ACTIVE REGULATOR   $        5.46  EA 
290685 COVER ACTIVE REGULATOR   $        2.74  EA 
290767 BRACKET, VALVE SINGLE MOUNT   $      10.92  EA 
290815 RECIRCULATION PORT   $        2.81  EA 
290913 TCOVER, HOBBS HOUR METER, MYLAR   $        0.10  EA 
332007 UNION, 1" PIPE, FITP X FITP, PVC, SCH 80   $      30.54  EA 
336087 FITTING,BARBED MALE HANSEN,POLYPROPYLENE   $        6.54  EA 
370001 STANDOFF, HEX, 3" X 1/4" 6-32   $        2.32  EA 
370010 BLOOD PRESSURE CUFF SET   $    212.38  EA 
370011 BLOOD PRESSURE CUFF, SINGLE   $      42.40  EA 
370017 ROTARY SWITCH 6 POS--4 PIECES!   $      30.07  EA 
370024 POLARIZING KEY AMP   $        0.12  EA 
370027 CHILD CUFF B.P. MODULE   $      42.18  EA 
370028 B.P. CUFF, ADULT LARGE   $      67.82  EA 
370029 B.P. CUFF, ADULT THIGH   $      88.91  EA 
370030 CUFF BASKET (WHITE SMALL)   $      45.94  EA 
370033 CONNECTOR, MALE, LUER, TUBING, BRASS, NI   $        1.16  EA 
370035 TEST KIT, BPS08   $    274.29  EA 
370045 CONNECTOR, FEM LUER, BP CUFF   $        0.87  EA 
370048 PLASMA DISPLAY, 128 X 64   $    330.57  EA 
370090 DUAL DUMMY CUFF, 220&700 CC   $    266.01  EA 
370091 Y-TEST UNIT, W/TUBE AND T-CONNECTOR   $      10.16  EA 
370094 BP HOSE W/ CONN, VINYL, 10 FT.   $      27.20  EA 
380008 RELAY, 16AMP, 24V C0IL, SPDT, PCB MNT   $      12.57  EA 
450007 LABEL - BICARB ONLY   $        5.08  EA 
450043 DISINFECTANT (JUG) KIT LABEL   $        4.61  EA 
450046 LABEL, ACETIC ACID (5%)   $        3.86  EA 
450260 2008K SERIES PM KIT ID   $        0.17  EA 
450288 MATERIAL TRAVELER TAG   $        0.29  EA 
450330 LABEL, TANK VOLUME, NAT. MIXER   $      75.11  EA 
450331 OPER. & MAINT. INST., MIXER   $      15.62  EA 
450345 LABEL, "SAMPLE IN"   $        4.34  EA 
450347 PRICE LIST, EQUIP. SPARE PARTS   $      13.81  EA 
450354 FILTER LABEL, DISSOLUTION TANK   $        3.45  EA 
450363 DISSOLUTION UNIT SPARE PARTS LIST   $        4.61  EA 
450364 DISSOLUTION UNIT TECHNICIAN'S MANUAL   $      45.88  EA 
450368 GRANUFLO II OPERATOR'S MANUAL   $      32.36  EA 
450379 LABEL, VALVE PANEL, CONCENTRATE, RIGHT   $      13.68  EA 
450380 LABEL, VALVE PANEL, CONCENTRATE, LEFT   $      13.68  EA 
450381 LABEL, DUAL ACID VALVE PANEL, CONC. LEFT   $        6.66  EA 
450382 LABEL, DUAL ACID VALVE PANEL, CONC.RIGHT   $        6.60  EA 
450385 GRANUFLO I VERSION 2 OPERATOR'S MANUAL   $      23.96  EA 
460013 LABEL, NOTICE, DRY ACID PRODUCT   $        7.18  EA 
460016 WARNING LABEL, DRY ACID DISSOLUTION UNIT   $        4.26  EA 
470123 PD LABEL EXPLOSION WARNING   $        1.12  EA 
470164 BTM OPERATING INSTRUCTIONS   $      28.06  EA 
490045 PORT OVERLAY, 2008K   $      24.20  EA 
490069 2008K OLC QUICK REFERENCE CARD   $        4.39  EA 
490080 2008K@HOME USER'S GUIDE set of 4   $      81.52  EA 
490085 2008K@HOME SINGLE NEEDLE USER'S GUIDE   $      20.69  EA 
490087 AQUABOSS ECO 50 QUICK REFERENCE   $      14.94  EA 
490105 2008K OPERATOR TROUBLESHOOTING CARDS   $    118.44  EA 
490114 2008K LEVEL I TRAINING MANUAL   $      87.38  EA 
490122 2008T HEMODIALYSIS OPERATOR'S MANUAL   $      19.76  EA 
490136 2008K2 HEMO. MACHINE OPERATOR'S MANUAL   $      59.24  EA 
490167 2008K@HOME TRAIN-THE-TRAINER MANUAL   $      45.66  EA 



FRESENIUS MEDICAL CARE - SPARE PARTS PRICE LIST 
Part# Description BlueStar Price U/M 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

PAGE 8 5/15/2019 450347 Rev R 

490172 MANUALLY RETURN. BLOOD PROCEDURE BOOKLET   $    146.10  EA 
490180 2008K@HOME USERS GUIDE   $        0.01  EA 
490317 PORT OVERLAY,NON-BIBAG & BIBAG PRESSURE    $      16.66  EA 
507296 2008K CALIBRATION PROCEDURES *  $      11.66  EA 
507298 2008K/K2 TROUBLESHOOTING GUIDE   $      33.22  EA 
507802 TECH REF MANUAL, iBOX FOR IN-CENTER COMM   $      40.88  EA 
508032 2008T CALIBRATION PROCEDURES   $      47.88  EA 
508137 2008K2 CALIBRATION PROCEDURES   $      44.66  EA 
516998 RING NUT,M10X.075MM THD,BRASS,NICKEL-PLA   $        0.82  EA 
525713 CAPACITOR,10 UF,35V,TANT,LS 2.5,±10%,RAD   $        0.93  EA 
525714 CAPACITOR 10UF 50V TANT RADIAL   $        2.72  EA 
530166 IC, 6 Channel Hex Schmitt Trigger, PDIP-   $        1.12  EA 
530518 DIODE, SCHOTTKY MBD301   $    374.40  EA 
533203 SPEAKER, 25 OHM, 0.5 W, OD 66MM   $      13.26  EA 
533207 CLIP, SPEAKER, FORMED, SS   $        1.51  EA 
534018 MICROSWITCH, 5A, 250V   $        6.97  EA 
534022 SWITCH,SUBMINIATURE,SPDT,0.1A,125 - 250V   $      11.61  EA 
534201 FUSE,0.5A MEDIUM-BLOW,5X20MM, UL CONTROL   $        1.30  EA 
535078 CONNECTOR, FEMALE 5 PIN SOCKET   $        1.22  EA 
535150 HEADER, 5 PIN MALE, 5MM PITCH   $        1.26  EA 
535158 STRAIN RELIEF 14 PIN IDC   $        0.72  EA 
535204 DIN CONN. 5 PIN 180 PANEL MTG.   $        4.32  EA 
535212 RECEPTACLE, DIN, 4 POLE   $      12.31  EA 
535421 CONN, 32 PIN, DIN 41612, FEMALE STYLE D   $      11.33  EA 
537119 GROMMET, 3/8 ID X 1/2 OD   $        0.54  EA 
537202 CLAMP, CABLE, 4MM, NYLON   $        0.33  EA 
537203 CABLE CLAMP, HYDRAULIC ASSY   $        0.33  EA 
537204 CABLE CLAMP #3, NYLON   $        0.33  EA 
539172 CABLE ASSY, 2 WIRE & CONN   $        7.12  EA 
551625 NUT, M8 X 1.0 MM , SS   $        0.33  EA 
552116 SCREW, CHEESE HEAD M3 X 10mm L   $        0.33  EA 
552208 SCREW, M4 X 18 MM PH SS PNHD   $        0.28  EA 
552234 SHCS, M8X45, SS   $        2.18  EA 
552239 SCREW SHCS M6 X 12   $        0.90  EA 
552243 SCREW, M3 X 6 SS PAN HD PHIL   $        0.18  EA 
552244 SCREW, PH, PHL, M3X8, DIN 7985   $        0.33  EA 
552245 SCREW, M3 X 10 PHPH, SS   $        0.33  EA 
552246 SCREW, M3 x 12 PH PHILLIPS   $        0.33  EA 
552247 SCREW, PHIL. M3 X 16MM   $        0.50  EA 
552255 SCREW PHIL PAN HD M2.5 X 6   $        0.33  EA 
552256 SCREW, M2.5X8MM,PHIL. PANHEAD   $        0.33  EA 
552274 SCREW, M4 X 6 PNHD PHIL SS   $        0.33  EA 
552275 SCREW, M4 X 8 PAN HEAD PHIL SS   $        0.33  EA 
552276 SCREW, M4 X 10 PNHD PHIL SS   $        0.12  EA 
552277 SCREW, M4 X 12 DIN 7985 PHPH, SS   $        0.33  EA 
552279 SCREW M4 X 16 PNHD PHIL SS   $        0.33  EA 
552282 SCREW, PHILLIPS, M4X20   $        2.61  EA 
552286 SCREW, M4 X 25 PH PHIL DIN 7985   $        0.33  EA 
552287 SCREW, PHL, PH, M4X30, SS   $        0.33  EA 
552290 SCREW,PHILLIPS M4 X 35M   $        0.33  EA 
552294 SCREW, PAN HD PHIL M4 X 50   $        1.16  EA 
552310 SCREW, M5 X 8 PNHD PHIL SS   $        0.71  EA 
552312 SCREW, M5 X 16 PNHD PHIL SS   $        0.33  EA 
552316 SCREW, M5X25 PNHD PHIL. S.S.   $        0.71  EA 
552320 SCREW, M5X30 PNHD PHIL. S.S.   $        0.33  EA 
552334 SCREW, PH PHIL M6X10 DIN 7985   $        0.69  EA 



FRESENIUS MEDICAL CARE - SPARE PARTS PRICE LIST 
Part# Description BlueStar Price U/M 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

450347 Rev R 5/15/2019 PAGE 9 

552335 SCREW, M6X12   $        0.64  EA 
552339 SCREW, PN HD PH, M6 X 20   $        0.33  EA 
552345 SCREW, M6 X 35 PNHD PHIL SS   $        0.33  EA 
552430 SCREW, M4X12, FLATHEAD   $        0.33  EA 
552431 SCREW, FH PHILLIPS M4X16 S.S.   $        0.17  EA 
552436 SCREW, SLOTTED M4X30   $        0.67  EA 
552452 SCRW, PHIL, FH, M5X12, SS   $        0.33  EA 
552550 SCREW, FH PHIL M3 X 8 DIN 965   $        0.33  EA 
553315 SCREW, SHCS, M6X16   $        0.63  EA 
553619 NUT, M2.5 DIN 934 S.S.   $        0.33  EA 
553620 NUT, 3MM SS   $        0.33  EA 
553621 NUT, HEX, M4 DIN 934ST   $        0.33  EA 
553622 NUT, M5 SS   $        0.33  EA 
553623 NUT, M6, SS   $        0.33  EA 
553624 NUT, M8 X 1.25 STD DIN 934 SS   $        0.33  EA 
553626 NUT, HEX, M10X1.5, SS   $        0.93  EA 
553682 NUT, HEX, M4 X 1, SS   $        4.65  EA 
553693 WASHER, A4.3, DIN 125 SS   $        0.33  EA 
553699 WASHER, M4 FLAT DIN 9021   $        0.04  EA 
553717 LOCKWASHER, 3MM SS   $        0.33  EA 
553719 LOCKWASHER, 5MM, S.S.   $        0.33  EA 
553723 LOCKWASHER,2.6MM,S.S. DIN127ST   $        0.33  EA 
553733 WASHER LOCK TOOTH A4.3 SS   $        0.33  EA 
553742 WASHER, SERRATED LOCK A10.5 SS   $        0.28  EA 
558004 SCREW, THUMB,KNURLED,M4 X M10 L,STEEL,PL   $        3.00  EA 
559094 WASHER,4MM,NYLON, FLAT   $        0.33  EA 
559695 WASHER, FLAT, A5.3, NYLON   $        0.33  EA 
560230 SCREW, PHPH #6 X 1/2" LG SS   $        0.33  EA 
562296 INSERT, THREADED, M4X0.7   $        0.33  EA 
563002 SPRING, EXTENSION, OD 6MM, 47.4MM, SW   $        1.74  EA 
563021 SPRING, INLET REGULATOR   $        1.89  EA 
563025 SPRING, COMPRESSION, OD 5.8MM, FL 16.4MM   $        0.78  EA 
563026 SPRING,COMPRESSION,OD22.2MM,FL 55.4MM,SS   $        1.99  EA 
563028 SPRING, RINSE PORT   $        0.81  EA 
563148 RING,RETAINING RING(CIRCLIP),ID 2.3MM,SP   $        0.33  EA 
563149 CIRCLIP, 3.2MM   $        0.33  EA 
563150 ROTOR CLIP,4MM GROOVE DIA,5-7MM SHFT DIA   $        0.30  EA 
563157 RETAINING RING   $        0.72  EA 
564296 BUSHING, HOUSING, PUMP, 8MM SHAFT   $        1.59  EA 
564301 SPRING PLUNGER,M4X9MM,STEEL NOSE,9-2.3LB   $        8.17  EA 
565048 INLET PRESSURE REGULATOR   $    103.17  EA 
565157 MEMBRANE, BALANCE CHAMBER, EPDM   $      23.29  PK 
565166 SHAFT, 4MM OD X 70MM L, SS   $        5.80  EA 
565219 PIN, STOP, WEAR BUTTON, SS, UF PUMP   $      17.75  EA 
565225 CLAMP, ECCENTRIC, LEVEL DETECTOR, SS   $      54.10  EA 
565236 SEAL,WASHER,THICK,ID18MM,OD23MM,SILICONE   $        0.82  EA 
565237 PRESSURE SPRING   $        0.82  EA 
565278 SPRING,COMPRESSION,OD 5.25MM,FL 17MM,SS   $        1.91  EA 
565279 SEAL, MEMBRANE, BIC/CONC/UF PUMPS   $        7.73  EA 
565283 PLATE, MOUNTING, MOTOR (F/D PUMP)   $      19.40  EA 
565327 COVER, 5 PIN SOCKET   $        0.43  EA 
565337 PIN, GUIDE, PANEL-REAR, PVC   $        9.09  EA 
565342 PUMP DRIVE ASSY, FLOW   $    329.39  EA 
565345 DC MOTOR, FLOW PUMP   $    240.95  EA 
565372 MOTOR FLANGE   $      10.48  EA 
565434 VALVE HOLD DOWN PLATE   $        2.32  EA 



FRESENIUS MEDICAL CARE - SPARE PARTS PRICE LIST 
Part# Description BlueStar Price U/M 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

PAGE 10 5/15/2019 450347 Rev R 

565540 GROUND CONTACT, 10MM HEX, SS   $      21.53  EA 
565552 COVER, CHAMBER E, HYDROBLOCK   $      21.65  EA 
565619 STRAP, RETAINING   $        6.97  EA 
565650 PUMP MEMBRANE   $      38.79  EA 
565682 ROD, OD 10MM, STOPPER, AL   $      12.73  EA 
565708 END PLATE, UF PUMP   $      31.01  EA 
565736 BUSHING, BICARB & CONC HOSES   $      44.97  EA 
565786 ROD, PLUNGER, SWITCH, SS, SHUNT ASSY   $        3.09  EA 
565796 INSULATOR, SHEET, LD SENSOR HEAD   $        2.18  EA 
565806 UF, 24V, PUMP   $    518.48  EA 
565834 REED SWITCH ASSY, RINSE PORTS   $      67.81  EA 
566025 PLATE, LOCKING, OPTICAL SENSOR   $        2.71  EA 
566034 CLAMP BUSHING   $      10.74  EA 
566037 PLUG, SEALING HYDROBLOCK   $        2.32  EA 
566044 HEATER BLOCK COVER FOR 641540   $      48.79  EA 
566177 SHAFT, 4MM OD X 64.8MM L, SS   $        3.68  EA 
566179 SHUNT BRACKET ASSY   $      44.96  EA 
566187 ROD, SWITCH PLUNGER, SHUNT   $        3.56  EA 
566189 SHAFT FOR SHUNT INTERLOCK   $        3.83  EA 
566252 CONNECTOR,LUER LOCK,MACHINED,COPPER,PLAT   $      35.02  EA 
566307 FILTER SCREEN, INSERT, MOLDED, SILICONE   $        3.20  EA 
567084 ROD, CARRIER, CHAMBER E, HYDROBLOCK   $      22.48  EA 
567172 HINGE, PIN, SCREW M4 X 28MM L, SS   $        9.29  EA 
567206 CONE, FLOAT (FLOW BOB), INDICATOR, SS   $        4.79  EA 
567207 SEAL, WASHER #1, FLOWMETER TUBE, SILICON   $        2.81  EA 
567208 SEAL, WASHER #2, FLOWMETER TUBE,SILICONE   $        5.83  EA 
567394 TUBE, TAPERED-GLASS, FLOWMETER   $      63.13  EA 
567418 MEMBRANE, DIAPHRAGM, PISTON ROD   $      39.67  EA 
567651 BALANCE CHAMBER WITHOUT VALVES   $    208.90  EA 
570088 LABEL, WARNING, SHUNT DOOR   $        9.18  EA 
572595 MOUNT, VIBRATION, OD 15MM X 15MM, NR   $        7.38  EA 
572597 MOUNT, VIBRATION, OD 25MM X 33MM, NR   $        8.23  EA 
572604 BUSHING, MOUNT, PP, GREY   $        3.09  EA 
572615 COVER, DOME PLUG, HOLE 16MM   $        0.09  EA 
572727 CLAMP, BAND, 1 EAR, TUBING, 7-8.7MM, SS   $        2.39  EA 
572809 CLIP, HOLDER, DRIP CHAMBER, ABS   $        7.34  EA 
573506 JUG, 10 LITER, (ACID)   $      17.25  EA 
576320 T-CONNECTOR, MOLDED, PVDF   $        1.70  EA 
579058 O-RING, SOLD IN MULTIPLES OF 25   $        0.59  EA 
579066 O-RING, 24MM X 1MM, BUNA-N, DUR 70, BLK   $        1.74  EA 
579070 O-RING, SOLD IN MULTIPLES OF 25   $        0.59  EA 
579072 0-RING, SOLD IN MULTIPLES OF 25   $        0.59  EA 
579075 O-RING, SOLD IN MULTIPLES OF 25   $        0.81  EA 
579077 O-RING, ID 38MM X 2MM WALL, EPDM, 70   $        1.55  EA 
579078 O-RING, ID 45MM X 3MM WALL, EPDM, 70   $        3.87  EA 
579092 O-RING, ID 13MM X 1.5MM WALL, EPDM, 70   $        0.82  EA 
579097 O-RING, SOLD IN MULTIPLES OF 25   $        3.09  EA 
580747 STANDOFF,7MM HEX,M-F,M4 X 20 L,STEEL,ZIN   $        0.83  EA 
580756 STANDOFF, HEX, M5X25   $        2.61  EA 
585016 BALL, 4MM DIA,SS   $      79.52  EA 
585018 BALL, 6MM, SS (PASSIVATED)   $        0.69  EA 
585205 PIN, LEVEL DETECTOR CLAMP (M45341)   $        8.27  EA 
587017 FILTER, MILLIPORE, HYDROPHOBIC, MAX 75 P   $        6.97  EA 
640011 BULKHEAD FITTING,BARBED   $      21.37  EA 
640012 WASHER,FLAT,10.2MM ID,25MM OD,5MM THK,PL   $        3.55  EA 
640013 WASHER,SHOULDER,OD25MM,ID10.2MM,5MMTHK   $        3.15  EA 



FRESENIUS MEDICAL CARE - SPARE PARTS PRICE LIST 
Part# Description BlueStar Price U/M 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

450347 Rev R 5/15/2019 PAGE 11 

640065 CAP, 10L, JUG, RED (ACID), MODIFIED, 29M   $        1.55  EA 
640066 CAP,10L,JUG,BLUE (BICARB),MOD.,29MM HOLE   $        1.35  EA 
640123 O-RING, SOLD IN MULTIPLES OF 25   $        3.48  EA 
640127 CABLE CLAMP, 3/16" NYLON   $        0.67  EA 
640228 FITTING, M5, EXTERNAL THREAD, BRASS   $        5.44  EA 
640257 RETAINER PLATE, LD SENSOR   $      15.90  EA 
640268 PC BOARD GUIDE WITH SCREWS   $        5.74  EA 
640287 JUMPER BLOCK   $        0.31  EA 
640330  SPRING, COMPRESSION, OD 7.50MM, FL 26MM   $        0.98  EA 
640363 WASHER   $      10.69  EA 
640364 BLOCK, DUAL VALVE, (MACHINED)   $      68.64  EA 
640533 CONNECTOR, 2 PIN, PCB MTG   $        1.35  EA 
640610 HANDLE, RED, MOLDED, W/MAGNET, CON   $      46.58  EA 
640611 HANDLE, BLUE, MOLDED, W/MAGNET, BICARBON   $      46.58  EA 
640613 NUT, BLUE BIC PLUG   $        3.48  EA 
640614 CONC HOSE W/RED PLUG & TUBING   $    115.89  EA 
640615 BIC HOSE W/BLUE PLUG & TUBING   $    112.82  EA 
640620 PLUG, BICARBONATE   $      44.22  EA 
640621 PLUG,STRGHT,M14X1 THREAD,COLLET,CONC/BIC   $      38.21  EA 
640746 IC, 74HC32 QUAD OR GATE (CMOS), DIP-14   $        0.52  EA 
640919 O-RING,SOLD IN MULTIPLES OF 25   $        0.31  EA 
640944 PIN, DOWEL, OD 3.5MM X 16MM L, SS   $        1.27  EA 
641008 SCREW, M4X8 FLAT HD PHIL SS   $        0.04  EA 
641050 BALANCING CHAMBER   $ 1,207.51  EA 
641072 IC,DUAL RETRIGGERABLE MONO MULTIVIBRATOR   $        0.58  EA 
641143 PLUG, ADAPTER, CONCENTRATE CONNECTOR   $      44.22  EA 
641256 ROLLER, GUIDE, TUBING, 6MM OD X 14MM L,   $        9.73  EA 
641290 DIAPHRAGM AND ACTUATOR   $      42.70  EA 
641362 O-RING,SOLD IN MULTIPLES OF 25   $        1.29  EA 
641376 FUSE, CERAMIC, 5A, 250VAC, 5X20MM   $        1.74  EA 
641395 SINGLE NEEDLE BLOOD PUMP   $ 2,726.57  EA 
641469 PAPER, PRINTER ROLL   $        6.74  EA 
641484 HINGE PIN, 2008K HEPARIN PUMP   $        1.68  EA 
641495 CONN, 64 PIN, DIN 41612, FEMALE STYLE C   $        7.34  EA 
641566 FUSE, SUBMINIATURE 2.5 AMP   $        1.41  EA 
641629 DC MOTOR & COUPLING, 24V,DEAERATION PUMP   $    329.39  EA 
641640 CLAMP, BAND, 1 EAR, TUBING, 5.2 - 6.2MM   $        2.31  EA 
641691 SCREW CAP, YELLOW, WITH HOLE   $        2.35  EA 
641759 O-RING,SOLD IN MULTIPLES OF 25   $        0.42  EA 
641904 COVER, CHAMBER D, HYDROBLOCK   $      23.31  EA 
641984 COUPLING, RED DIALYSATE   $      94.55  EA 
641985 COUPLING BLUE DIALYSATE   $      94.55  EA 
641992 DIALY. HOSE,W/FLOW INDICATOR,CONN,BLUE,U   $    289.76  EA 
641993 DIALY. HOSE,W-FLOW INDICATOR,CONN,RED,UN   $    167.76  EA 
642056 SCREW, 4MM X 16MM L, SS   $        1.84  EA 
642275  SPRING,COMPRESSION,OD 7.2MM,CL 6.4MM,SS   $        0.78  EA 
642285 CIRCUIT BREAKER 16 AMP   $      39.67  EA 
642309 SCREW,PN HD PH, M5X20, DIN7985   $        0.33  EA 
642375 CAP, KNURLED, PLASTIC, UF PUMP   $        0.33  EA 
642428 CLAMP, 1 EAR, HOSE, 11.1 - 13.1 MM, SS   $        2.31  EA 
642541 BATTERY, 9V, ALKALINE, NON-RECHARGABLE   $        6.77  EA 
642585 SPRING, COMPRESSION, OD 7.6MM, FL 28MM,   $        2.66  EA 
642697 SCREW,FH,PH,M5X16,SS   $        0.32  EA 
642925 WASHER, FLAT OVERSIZED, A6.4,SS   $        0.33  EA 
642951 VALVE,SOLENOID,SINGLE BARB,POS 24,27,31-   $    143.15  EA 
642952 VALVE, SOLENOID, BARB,POS 35,36,37,38,39   $    143.15  EA 



FRESENIUS MEDICAL CARE - SPARE PARTS PRICE LIST 
Part# Description BlueStar Price U/M 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

PAGE 12 5/15/2019 450347 Rev R 

642953 VALVE, SOLENOID, SINGLE BARB,POS V26,V40   $    149.73  EA 
642978 SCREW, M4X55 PAN HD PHIL SS   $        0.33  EA 
642983 SCREW, M5X50, PHIL FLATHEAD SS   $        0.33  EA 
643124 WASHER,FLAT,5.3MM ID,15MM OD,1.2MM THK,S   $        0.10  EA 
643160 BEARING, BALL, ID 0.157", OD 0.512", 0.1   $        8.23  EA 
643184 BUSHING, SHOULDER, 4MM SCREW, BACK PANEL   $        1.12  EA 
643276 TRANSDUCER, SENSYM SCX 15 DNC   $      61.94  EA 
643296 ROD #1, HYDRAULIC CHASSIS, SUB 290062   $      14.80  EA 
643396 CABLE,CONNECTOR,SOLENOID VALVE   $      10.95  EA 
643418 VALVE, SOLENOID, 2-BARB PORTS, POS 41,30   $    163.59  EA 
643794 SCREW, FLAT HD, PHIL, M5 X 35MM L, SS   $        0.33  EA 
643821 SCREW, M4 X 10MM PHIL FLTHD   $        0.33  EA 
643894 VALVE, SCREW, MOLDED   $        1.96  EA 
644066 FUSE 10A 250V SLO-BLO 5X20MM   $        4.32  EA 
644091 SCREW, PHPH, M4X8MM L, LOCK, SS   $        0.33  EA 
644162  PLATE, CONNECTOR, WATER INLET/DRAIN, MO   $      16.78  EA 
644213 PLATE, COVER, WATER INLET FITTING, AL   $        1.38  EA 
644290 HOUR METER 5VDC HECON GO633831   $    104.10  EA 
644319 LED, RED HLMP1700   $        0.64  EA 
644359 SCREW, FLAT HD PHIL, M4 X 30MM L, SS   $        0.33  EA 
644389 SOLENOID,LEVEL DETECTOR-KUHNKE   $    354.22  EA 
644891 100UF CAPACITOR 2008K ART. BP MODULE   $        1.07  EA 
645198 SPRING,COMPRESSION,OD 20.1MM,FL 33MM,SS   $        0.79  EA 
645357 POINTER, (KNOB)   $        1.35  EA 
645384 IC, CMOS SWITCH, DG411DJ   $        7.47  EA 
645482 LED INDICATOR, GREEN-HLMP-2855   $        5.08  EA 
645496 IC, L296 SWITCHING REGULATOR   $      27.57  EA 
645543 TERMINAL-MALE TAB   $        0.22  EA 
645593 SOLENOID, 24VDC, 75W, UF PUMP   $    394.82  EA 
645667 FILTER,TRANSDUCER PROTECTOR, LD   $      11.64  EA 
645669 LABEL, STICKER, LEVEL DETECTOR   $        3.02  EA 
645698 PLUG, BICARB, BLUE, W/ CLEAR TUBING   $    130.09  EA 
645699 PLUG, CONCENTRATE, RED, W/ CLEAR TUBING   $    130.09  EA 
645714 HINGE, FRONT PANEL, MOLDED, PP, NATURAL   $        2.66  EA 
645752 DC MOTOR, DEAERATION  PUMP   $    235.68  EA 
645857 DEAERATION RESTRICTION   $      48.79  EA 
646058 BOOT, CAPACITOR   $        1.46  EA 
646112 CIRCLIP,6MM,FLAT,12.5MM OD,0.7MM,THK,SS   $        0.78  EA 
646154 VALVE, SOLENOID, 2 BARB PORTS, 24V DC   $      76.42  EA 
646336 BLOCK, DUAL VALVE, MOLDED, W/ HARDWARE   $      12.23  EA 
646378 SUPPORT CIRCUIT BOARD,M4X10MM,NYLON,BLK   $        0.70  EA 
646408 ACCESSORY KIT 2008H-K   $    242.84  EA 
646614 VALVE ASSY V24/V26   $    284.27  EA 
646835 O-RING, ID 38MM X 2,5MM WALL, EPDM, 70   $        2.53  EA 
647145 RELIEF VALVE, HIGH FLOW   $      79.30  EA 
647168 HOLDER, CANISTER CONNECTOR, PVC, WHITE   $      31.03  EA 
647179 STANDOFF, M4 X 10 IN & OUT   $        0.93  EA 
647442 NUT, HEX, THIN, M5, SS   $        0.33  EA 
647443 SCREW, SET, M5 X 10 FOR 647673   $        0.33  EA 
647523 BAG HANGER, IV POLE   $    137.25  EA 
647536 NORYL RESIN GFN2   $      35.13  KG 
647565 SNAP RING, UNIVERSAL, OD 10.45, 1MM DIA   $        1.55  EA 
647610 LOADING PRESSURE VALVE   $    109.70  EA 
647791 CLAMP, 1 EAR TUBING, 5.9 - 7.0MM, SS   $        1.80  EA 
650113 FILTER SCREEN, 350U,DIAL.LINE   $        2.53  EA 
650114 FILTER, DIALYSATE LINE   $      33.95  EA 



FRESENIUS MEDICAL CARE - SPARE PARTS PRICE LIST 
Part# Description BlueStar Price U/M 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

450347 Rev R 5/15/2019 PAGE 13 

650158 FILTER/TUBE, ART BP/LVL DETCR   $      11.64  EA 
650708 PRESSURE SPRING   $        0.78  EA 
650723 PIN,GROOVED,M2XM45,HALF-LENGTH TAPER GRO   $        1.96  EA 
650775 PLATE, INNER, HEAT EXCHANGER   $      15.53  EA 
650795 DIAPHRAGM PUMP HOUSING   $      15.40  EA 
650857 SPRING, BRAKE ACTUATOR STAMPED AND FORME   $        7.78  EA 
650859 PLATE, CLAMP BRAKE ROD   $        6.78  EA 
650867 BRAKE PEDAL & SHAFT ASSY   $      86.94  EA 
650868 BRAKE CABLE ASSY, LONG   $      15.53  EA 
650869 BRAKE CABLE ASSY, SHORT   $      15.16  EA 
650924 CASTER, SWIVEL   $      48.80  EA 
650993 SAMPLING VALVE, DIALYSATE   $      60.32  EA 
651513 BLOCK,SPACER,HEATER,W/INLET FITTING MOLD   $        1.96  EA 
651567 COVER, AIR SEPARATOR   $      42.70  EA 
651735 CHAMBER, AIR SEPARATOR, MOLDED   $      31.90  EA 
651788 BLOOD LEAK DETECTOR, NOW M39184   $    386.82  EA 
651859 TUBE,CUVETTE CELL,GLASS,BLOOD LEAK,SENSO   $      49.08  EA 
652559 GASKET, BLOOD LEAK DETECTOR   $        2.95  EA 
668033 CONDUCTIVITY CABLE, MODIFIED   $        7.99  EA 
670104 BRUSH, HARD, DEAERATION MOTOR   $      13.61  EA 
670168 FITTING, SPOUT ADAPTER, BIC/CONC CONNECT   $        4.30  EA 
670169 FITTING, UF PUMP INLET   $        3.68  EA 
670170 FITTING, INLET, CONC/BICARB PUMP   $        3.53  EA 
670358 PLUNGER, DIAPHRAGM, CONC/BICAR PUMP ASSY   $        9.73  EA 
670574 HOSE CLAMP, SNAPPER, TYPE - SNP4   $        0.70  EA 
670709 HALL SENSOR, CABLE, BLOOD PUMP ROTOR   $      10.03  EA 
670710 HALL SENSOR, DOOR, 2008K BLOOD PUMP   $      11.80  EA 
670770 FITTING, OUTLET, CONC PUMP   $        1.96  EA 
670771 FITTING, OUTLET, BICARB PUMP   $        2.66  EA 
670780 CLAMP, HOSE 1/2 NYLON, BLACK   $        0.78  EA 
670820 CLAMP, TUBING   $        3.53  EA 
670858 CARD GUIDE, PCB   $        4.33  EA 
670911 CONNECTOR, BARBED, 4MM X 35MM L   $        1.35  EA 
671003 PCB, LP 645, CONC/BICA PUMP   $    207.97  EA 
671079 O-RING, ID 12.42MM X 1.78MM WALL,EPDM 70   $        0.42  EA 
671090 STANDOFF, M4 X 27 LONG, M/F   $        0.95  EA 
671105 BICARBONATE MIXING CHAMBER MOLDED ASSY   $      20.45  EA 
671125 IV POLE, WITHOUT HANGERS   $    249.45  EA 
671540 CONNECTOR, MALE LUER LOCK, SS   $      38.82  EA 
671541 NUT, LOCKING, LUER, SS   $      26.17  EA 
671779 HANDLE, SMOOTH, SAMPLE PORT   $      25.05  EA 
671780 LUER LOCK,FEMALE,PANEL MOUNT,OD10MMX45MM   $      51.84  EA 
671796 SPRING, CLAMP, FORMED, WIRE 1MM, SS   $        4.61  EA 
671797 CLAMP SHAFT BAR, 2008K ART. BP MODULE   $        4.61  EA 
672031 PLATE, PUSH, PLUNGER, MOLDED, BLK   $        2.52  EA 
672124 PANEL, REAR, HYDRAULIC CHASSIS   $      43.88  EA 
672125 PUMP PLATE   $      93.14  EA 
672387 VALVE, SOLENOID PAIR, POSITION V27/ V29   $    268.59  EA 
672388 VALVE 25   $    116.70  EA 
672390 AIR SEPARATOR 2008H-K   $    259.25  EA 
672391 PUMP, STEPPER, CONCENTRATE   $    460.57  EA 
672396 LUER LOCK (UF-HANDLE), WAS 190109   $      91.72  EA 
672429 BICARBONATE PUMP ASSY   $    460.57  EA 
672769 DISTRIBUTION BOARD, 2008H/K, LP706   $    207.41  EA 
672910 COUPLING,MAGNETIC,W/HDWR,GEAR PUMP DRIVE   $      57.95  EA 
673013 BLACK WIRE TUBE CLAMP, 11.9MM ID   $        0.31  EA 



FRESENIUS MEDICAL CARE - SPARE PARTS PRICE LIST 
Part# Description BlueStar Price U/M 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

PAGE 14 5/15/2019 450347 Rev R 

673068 PUMP, MEMBRANE, 24V DC, W/CONN   $    110.78  EA 
673132 SILVER WIRE TUBE CLAMP, 12.8MM ID   $        0.31  EA 
673360 MOUNT,VIBRATION,10MM X 22MM,NR,DURO 55   $        2.53  EA 
673443 PORT, VALVE, ADAPTER, MOLDED   $        4.66  EA 
673615 HANDCRANK, ROTOR, HANDLE/BODY,BLOOD PUMP   $      20.64  EA 
673618 SUPPORT, CIRCUIT BOARD, NY   $        0.72  EA 
673945 VALVE SPRING SET, UF PUMP   $      30.32  EA 
674074 VALVE SPRING SET, BIC-PUMP   $      32.18  EA 
674349 VALVE,SOLENOID,SINGLE BARB,MTS,UNHARNESS   $    115.11  EA 
674608 CAP, 10L JUG, RED (ACID)   $        1.35  EA 
674648 T-CONNECTOR, REPLACES 576395   $        2.74  EA 
674649 T-CONNECTOR, M6X4X6 PVDF   $        2.03  EA 
674650 Y-CONNECTOR, TUBE, PLASTIC   $        1.96  EA 
674672 SOLENOID LEVEL DETECTOR-MSM  SUB 644389   $    234.15  EA 
675094 FLOAT SWITCH, WAS 641989   $    132.98  EA 
675142 GEAR PUMP PPS TEFLON, REPLACES 646820   $    407.94  EA 
675609 HOUSING WITH BUSHING   $      35.61  EA 
675723 ADAPTER, BICARBONATE PLUG   $      47.28  EA 
675724 ADAPTER, CONCENTRATE PLUG   $      47.28  EA 
675837 PRESSURE PLATE, REPLACES 670359   $        8.12  EA 
676106 AIR SEPARATOR W-O VALVE   $    126.59  EA 
676227 CONNECTING TUBE, AIR, ASSEMBLY, LD   $      17.68  EA 
676268 PLATE, COVER, HEATER BLOCK   $      61.02  EA 
676269 BLOCK, HEATER, WITH BUSHINGS   $    719.41  EA 
676270 GASKET, HEATER BLOCK, SILICONE   $      10.45  EA 
676271 PLATE, MOUNTING, PRESSURE, SS   $        3.73  EA 
676272 HEATER BLOCK,COMPLETE,MODIFIED   $ 1,352.56  EA 
676401 SHUNT DOOR ASSY   $    126.24  EA 
676421 AIR SEPARATOR KIT, 2008 MACHINE   $    137.27  EA 
676502 TEMPERATURE SENSOR KIT   $    157.07  EA 
676715 FILTER HOLDER, DIASAFE PLUS ASSY   $    111.44  EA 
676982 SCREW, TORX HD,M5X0.8,90MM LNG   $        0.74  EA 
677627 MOUNTING ROD HP 2008K   $        3.57  EA 
677630 CAP,COVER,6.4MM OD X 5.9MM H,SYRINGE BOD   $        0.20  EA 
677634 PIN, HOLDER, CARRIAGE/PLUNGER, SS   $      23.04  EA 
677636 BD INTERFACE, HEPARIN PUMP   $      49.75  EA 
677749 ASSY, IV POLE & HANGER   $    148.76  EA 
677792 HOLDER, DIALYZER (FILTER), MOLDED   $      77.82  EA 
677818 CIRCUIT BOARD LP955   $    413.48  EA 
677820 CIRCUIT BOARD LP956   $    115.78  EA 
677957 DOOR, TRANSPARENT, L.D.   $      23.52  EA 
677959 DOOR, COVER, BLOOD PUMP MODULE   $      42.07  EA 
677973 HOLDER, 10cc/20cc SYRINGE BODY   $        4.25  EA 
677975 CARRIAGE/PLUNGER HOLDER ASSY   $      47.51  EA 
677981 PAD, TOUCH, LD MODULE   $      42.01  EA 
150062-01 BP CUFF KIT   $      86.67  EA 
160064-01 ASSY, CABLE, INLET SOLENOID VALVE   $    630.44  EA 
190193-339 ASSY., 2008K FUNCTIONAL BOARD W/SW V3.39   $    309.98  EA 
190193-346 ASSY., 2008K FUNCTIONAL BD SW V3.46   $    310.00  EA 
190193-349 ASSY., 2008K FUNCTIONAL BD SW V3.49   $    310.00  EA 
190205-04 ASSY, LCD DISPLAY, NEC-64   $    610.93  EA 
190220-535 ACTUATOR BOARD SOFTWARE V5.35   $        0.01  EA 
190234-101 ASSY, 2008K ACTUATOR-TEST BOARD,SW V1.01   $    246.43  EA 
190234-210 ASSY, 2008K ACTUATOR-TEST BOARD,SW V2.10   $    236.95  EA 
190234-226 ASSY, ACTUATOR/TEST BD WITH S/W V2.26   $    246.28  EA 
190234-227 ASSY, ACTUATOR/TEST BD WITH SW V2.27   $    246.28  EA 



FRESENIUS MEDICAL CARE - SPARE PARTS PRICE LIST 
Part# Description BlueStar Price U/M 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

450347 Rev R 5/15/2019 PAGE 15 

190234-231 ASSY, ACTUATOR-TEST BOARD WITH SW V2.31   $    246.28  EA 
190234-232 ASSY, ACTUATOR/TEST BD WITH SW V2.32   $    246.28  EA 
190276-01 2008K@HOME TEST BOARD SOFTWARE *  $      66.42  EA 
190324-01 ASSY,REAR PANEL DIASAFE PLUS-2008 *  $    120.04  EA 
190441-411 ASSY 2008K@HOME FUNCT BOARD W/ S/W V4.11   $    408.78  EA 
190441-414 ASSY 2008K@HOME FUNCT BOARD W/ S/W V4.14 *  $    310.00  EA 
190441-415 ASSY 2008K@HOME FUNCT BOARD W/ S/W V4.15   $    408.78  EA 
190642-521 ASSY., 2008K2 FUNCTIONAL BOARD,S/W V5.21   $    314.59  EA 
190642-526 ASSY. 2008K2 FUNCTIONAL BOARD W/SW V5.26   $    314.57  EA 
190642-540 ASSY, 2008K2 FUNCTIONAL BD W SW V5.40   $    314.57  EA 
190642-543 ASSY, 2008K2 FUNC BOARD WITH SW V5.43   $    477.07  EA 
190654-222 ASSY., 2008T FUNCTIONAL BOARD,S/W V2.22   $    477.18  EA 
190654-258 ASSY., 2008T FUNCTIONAL BD WITH SW V2.58   $    321.57  EA 
190654-261 ASSY., 2008T FUNCTIONAL BD WITH SW V2.61   $    319.13  EA 
190654-265 ASSY, 2008T FUNCTIONAL BD WITH SW V2.65   $    301.10  EA 
190654-272 ASSY, 2008T FUNCTIONAL BOARD W/ SW V2.72 *  $    287.91  EA 
190681-02 ASSY, 2008T UI-MICS WITH PC   $    721.17  EA 
190751-17 2008T USB UPDATER F2.58 / A2.27 / U1.17   $        0.01  EA 
190751-19 ASSY,2008T USB UPDATER F2.63/A2.27/U1.17   $        0.01  EA 
190751-20 ASSY,2008T USB UPDATER F2.65/A2.27/U1.17   $        0.01  EA 
190817-18 ASSY, PAL2 W/2008K@HOME FUNC SW V4.36   $        0.01  EA 
190817-19 ASSY,PAL2 W/ACTUATOR TEST BOARD SW V2.27   $        0.01  EA 
190817-21 ASSY, PAL2 W/2008K FUNCT BOARD SW V3.39   $        0.01  EA 
190817-24 KIT, PAL2: 2008K2 FB V5.40 & ATB V2.31   $        0.01  EA 
190817-30 ASSY, PAL2 W/2008K FUNC. BD SW V3.71   $        0.01  EA 
190817-31 KIT, PAL2: 2008K2 FB V5.43 & ATB V2.31   $        0.01  EA 
190817-33 KIT, PAL2: 2008K@HOME FB V4.38 & ATB V2.   $        0.01  EA 
190818-436 ASSY, 2008K@HOME FUNCT BD W/ SW V4.36   $    309.98  EA 
190818-438  ASSY, 2008K@HOME FUNCT. BD W/ SW V4.38   $    309.98  EA 
190861-01 ASSY, BIBAG GEN2 INTERFACE BOARD W/ SW   $    255.68  EA 
190951-105 ASSY, POWER LOGIC BOARD WITH SW V1.05   $    182.21  EA 
190951-106 ASSY, POWER LOGIC BOARD WITH SW V1.06   $    174.27  EA 
191117-01 ASSY, UI-MICS BOARD WITH SW AND GEN 3 PC   $ 1,441.18  EA 
220463-02 CONNECTOR, SINGLE PORT 1/4 MNPT   $      27.08  EA 
221300-03 TUBING CLIP GREY (645009)   $        1.12  EA 
221301-02 DRIP CHAMBER CLIP-MOLDED GRAY   $        1.26  EA 
290172-01 I.V. POLE HOLDER, FINISHED, LOWER, 2008K   $      30.11  EA 
290536-01 2008T UPPER POLE MOUNT   $      47.56  EA 
330003-05-02 SCREW,HEXHD,SELF-DRILLING,1/4"X1"LONG,SS   $        1.24  EA 
330005-14-01 SCREW, PAN, HD, TAPPING, #10 X 1-3/4L,SS   $        0.08  EA 
330006-09-01 SCR, SKT HD CAP SS 1/4-20X 3/4   $        0.25  EA 
330006-11-01 SCREW SHCS SS 1/4-20 X 1" LG   $        0.31  EA 
330045-03-01 SCREW, SHSS,COIN PT,10-32 X 1/4L,316L SS   $        0.61  EA 
330046-05-01 SCREW, SHSS,CUP PT,1/4-20 X 3/8L,316L SS   $        0.68  EA 
330047-06-01 SCREW,SHSS,CUP PT.,1/4-28 X 3/8L,316L SS   $        1.13  EA 
330081-09-01 HEX HD, CAP SCREW, 1/4-20 X 3/4L, SS   $        0.33  EA 
330082-01-01 SCREW, SS, HEX HD,  5/16-18 X 1"LG   $        0.33  EA 
330092-08-02 SCREW, SS, FH, 6-32 X 5/8" LG   $        0.33  EA 
330098-08-01 SHEET METAL SCREW, PHPH, #8 X 5/8, SS   $        0.33  EA 
330126-10-01 PAN HEAD PHILLIPS SCREW, 1/4-20 X 1", SS   $        0.25  EA 
330143-13-01 (B)SCREW, 8-32 X 1-1/2" FLAT HD   $        0.26  EA 
330257-15-01 SCREW, PAN HD PH, W/WSHR,10-32 X 3/8L,SS   $        0.30  EA 
330400-04-03 SCREW,JACK,KIT   $        0.71  EA 
330400-04-05 SCREW, JACK, 4-40, SHORT HEAD   $        0.55  EA 
330522-02 SILICONE RUBBER - CLEAR, #732   $      22.59  EA 
330601-03-01 WASHER,FLAT,#8,.188ID X.375 OD X.05T,SS   $        0.33  EA 



FRESENIUS MEDICAL CARE - SPARE PARTS PRICE LIST 
Part# Description BlueStar Price U/M 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

PAGE 16 5/15/2019 450347 Rev R 

330601-04-01 (B) WASHER, #10, LIGHT FLAT   $        0.33  EA 
330602-01-01 WASHER #4 PLAIN SS   $        0.33  EA 
330602-02-01 (B) WASHER, #6 FLAT SS   $        0.25  EA 
330602-03-01 WASHER,FLAT,#8,.188ID X.375 OD X.05T,SS   $        0.33  EA 
330602-05-01 WASHER FLAT 1/4" SS   $        0.33  EA 
330602-06-01 (B)WASHER,FLAT MED.3/8X.055 TH   $        0.33  EA 
330602-08-02 WASHER, USS, 9/16" ID, 1-3/8" OD   $        0.19  EA 
330604-01-01 WASHER #4 EXT TOOTH LOCK SS   $        0.33  EA 
330604-03-01 WASHER, #8 EXT TOOTH LOCK SS   $        0.33  EA 
330604-04-01 WASHER, #10 EXT TOOTH LOCK SS   $        0.33  EA 
330606-01-01 WASHER, SPLIT LOCK, #4, SS   $        0.33  EA 
330606-02-01 WASHER, SPLIT LOCK, #6, SS   $        0.25  EA 
330606-03-01 (B) WASHER, #8 SPLIT LOCK   $        0.33  EA 
330606-04-01 WASHER, SPLIT LOCK, #10, SS   $        0.32  EA 
330606-05-01 (B) WASHER, 1/4" SPLIT LOCK   $        0.33  EA 
330606-06-01 WASHER, SPLIT LOCK, #3/8, SS   $        1.25  EA 
330606-08-01 WASHER, M4, SPLIT LOCK   $        0.12  EA 
330608-02-01 INTERNAL TOOTH WASHER, #6, SS   $        0.38  EA 
330608-03-01 WASHER,#8 INT. TOOTH LOCK SS   $        0.03  EA 
330608-05-01 INTERNAL TOOTH LOCK WASHER 1/4", SS   $        0.52  EA 
330608-08-01 WASHER, FINISHING, COUNTERSUNK, #8, SS   $        0.18  EA 
330611-06-01 HEX NUT 1/4-20, SS   $        0.12  EA 
330611-06-02 NUT EXT LOCKWASHER 1/4-28 KEP   $        0.35  EA 
330614-16 NYLON HEX JAM NUT 3/4-16   $        0.99  EA 
330615-01 LOCKNUT, ROUND KNURLED BRASS, 3/8-32 THR   $        0.55  EA 
330620-10-01 WASHER, OVERSIZED, NO. 10, S.S   $        0.20  EA 
330636-02 FILTER SCREEN WASHER, 149 MICRON, SS   $        2.98  EA 
330637-01 WASHER, FLAT, SEAL, OD 1" X ID 5/8" THK,   $        0.69  EA 
330683-10-01 PIN 1/4 X 3/4   $        0.69  EA 
330705-03-02 NUT, HEX, M3, EXT.TH. L/W, ZI   $        0.56  EA 
330705-04-02 (B) NUT, M4 WITH EXT TH L/W ZI   $        0.12  EA 
330705-08-02 NUT 8-32 W/EXT LW SS   $        0.12  EA 
330706-09-01 NUT,HEX,JAM,5/16"-18,NC,SS   $        0.33  EA 
330706-11-01 NUT, HEX, JAM, 3/8-16, SS   $        0.20  EA 
330717-02-01 (B) NUT NYLOCK 8-32   $        0.09  EA 
330801-03 SNAP RIVET,FOR .161X.217 HOLE,NYL BLK   $        0.29  EA 
330903-04 CABLE CLAMP 5/16 DIA. NYLON   $        0.08  EA 
330904-01 INSERT, M5 X 0.8, BRASS   $        0.42  EA 
330913-07-01 SCREW 8-32 1/2" PH PAN HD   $        0.33  EA 
330913-09-01 (B)SCREW, 8-32 X 3/4" PAN HD. PHIL.   $        0.35  EA 
330918-07-02 SCREW,10-32X5/8",SS,THRD FORM,TAPTITE II   $        1.01  EA 
330918-09-01 SCREW,  PAN HD, 10-32 X 3/4" L, SS   $        0.33  EA 
330919-05-01 SCREW 4-40 3/8"L PHIL PAN   $        0.32  EA 
330920-02-01 SCREW, PHPH, M3 X 6 W-LW, ZI   $        0.08  EA 
330920-05-01 SCREW, PHPH HD M3X5MM, SS   $        0.33  EA 
330920-06-01 SOCKET HEAD CAP SCREW M6X25, DIN 912, SS   $        0.50  EA 
330920-07-01 SCREW FH PHIL M4 X 6 DIN 965ST   $        0.08  EA 
330920-08-01 FLAT HEAD PHILLIPS SCREW M3X5, DIN965,SS   $        0.69  EA 
330920-12-01 SCREW, M4X8, PHPH W/INT LOCKW   $        0.08  EA 
330920-15-01 SCREW,FH,PHL,M3X10,DIN 965A,SS   $        0.04  EA 
330920-25-01 SCREW, SHCS, SS, M4 X 6MM   $        0.07  EA 
330920-27-08 SCREW, M5X10, PHPH W INT LW, SS   $        0.60  EA 
330920-28-01 SCREW, 6-32 X 1/2 SEAL, PHPH, SS   $        0.70  EA 
330920-42-01 SCREW,M4X12,THRD-FRMNG,PT PH,ZINC-PLATE   $        0.12  EA 
330935-05-02 SCREW PAN HD PH 6 X 5/16 TYP B   $        0.33  EA 
330935-05-03 THREAD-FORMING PHILLIPS SCREW, #6X3/8,SS   $        0.33  EA 



FRESENIUS MEDICAL CARE - SPARE PARTS PRICE LIST 
Part# Description BlueStar Price U/M 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

450347 Rev R 5/15/2019 PAGE 17 

330936-05-03 SCREW,FASTENER 4-24 X 3/8"LG,SELF TAP   $        0.33  EA 
330936-05-04 SCREW,FH PH 4X3/8 S.S. TYPE B   $        0.50  EA 
330936-07-01 PHIL THREAD-FORMING SCREW, 4-24X5/8, SS   $        0.04  EA 
330936-10-01 SCREW, PHPH, #10 X 1"LG, SELF TAPPING,SS   $        0.16  EA 
330937-04-01 LOCKWASHER, SPLIT 5/16" SS   $        0.33  EA 
330941-01-04 ROD, SS, THREADED, 3/8-16 X 7"   $        5.08  EA 
332004-03 FLAT RETAINER CLIP 1/4, SS   $        1.80  EA 
332004-05 SOCKET RETAINER CLIP, 14 PIN   $        2.98  EA 
332007-01 UNION, 3/4", PVC, SCH 80   $      23.90  EA 
332007-02 UNION, 1" SOC, PVC 80   $      15.85  EA 
332010-07 BENCHTOP TUBING CUTTER, 1/16" TO 5/8" OD   $      50.96  EA 
332010-08 REPLACEMENT BLADE,BENCHTOP TUBING CUTTER   $      23.66  EA 
332011-015 TOE NIP. 3/4", 1.5" LG, PVC-80   $        1.87  EA 
332011-220 TOE NIP. 3/4", 22" LONG, PVC-80   $        7.71  EA 
332015-07 GRA-TEC 1/4 MALE-MALE COUPLING   $      25.26  EA 
332015-12 ADAPTER, STRAIGHT, 1/16 TUBE X M3 THREAD   $        5.82  EA 
332015-19 10-32 MALE THREAD X 3/32"ID TUBE FITTING   $        5.65  EA 
332015-21 ADJUSTABLE ELBOW, 10-32 X 1/16" OD BARB   $      15.48  EA 
332015-23 FITTING, TEE, TUBING ID 3/32", BRASS   $      14.71  EA 
332015-24 FITTING, TEE, TUBING ID 1/16", BRASS   $      14.71  EA 
332015-26 FITTING, CROSS, TUBING ID 3/32", BRASS   $      13.76  EA 
332015-28 FITTING, STRAIGHT, TUBING ID 1/16" BRASS   $        4.00  EA 
332015-30 FITTING, REDUCE 3/32-1/16 TUBE ID, BRASS   $        4.73  EA 
332015-35 FILTER,20 MICRON FITTING M5 EXT X M5 INT   $        9.82  EA 
332015-36 43 MICRON FILTER FITTING M5 EXT X M5 INT   $      27.52  EA 
332015-41 FITTING, Y TUBING ID 3/32", BRASS   $        8.74  EA 
332015-49 BARB TO BARB REDUCER 3/32" TO 5/64"   $        5.43  EA 
332018-020 PIPE 1", 2" LG, PVC-80   $        2.81  EA 
332018-025 PIPE, 1" X 2.5" LONG, PVC, SCH 80   $        2.69  EA 
332018-030 PIPE, 1" X 3" LONG, PVC, SCH 80   $        3.35  EA 
332018-040 PIPE, 1" X 4.0" LONG, PVC, SCH 80   $        3.91  EA 
332018-050 PIPE, 1" X 5.0" LONG, PVC, SCH 80   $        4.73  EA 
332018-060 PIPE, 1" X 6.0" LONG, PVC, SCH 80   $        4.99  EA 
332018-080 PIPE, 1" X 8" LONG, PVC-80, SCH 80   $        7.06  EA 
332018-110 PIPE, 1" X 11.0" LONG, PVC, SCH 80   $        7.95  EA 
332018-415 PIPE, 1", 41-1/2" LONG, PVC-80   $      27.20  EA 
332019-040 TOE NIP. 1", 4" LONG, PVC-80   $        3.15  EA 
332020-01 3-WAY BALL VALVE 1/8 FNPT, SS-42GXF2   $    224.95  EA 
332020-01-01 HANDLE, VALVE, NYLON, BLK   $      20.27  EA 
332024-02 3/4" GHT COUPLING X 3/8" ID HOSE, NYLON   $        3.18  EA 
332024-05-01 COUPLING, 3/8 MNPT, MALE, POLYS   $      28.55  EA 
332024-05-02 COUPLING, 3/8" ID, HOSE BARB, POLYS   $        9.09  EA 
332024-05-03 COUPLING,3/8" ID,PANEL HOSE BARB, POLYS   $      18.77  EA 
332024-05-04 COUPLING,3/8"ID,PANEL,SHUTOFF,BARB,POLYS   $      33.79  EA 
332024-06-01 COUPLING, 1/2" NPT, INSERT, POLYP   $        7.02  EA 
332024-06-02 COUPLING,3/8"ID, IN-LINE HOSE BARB, HFCD   $        8.66  EA 
332031-015 PIPE 3/4", 1-1/2" LG, PVC-80   $        1.92  EA 
332031-020 PIPE 3/4", 2" LG, PVC-80   $        1.87  EA 
332031-030 PIPE 3/4", 3" LG, PVC-80   $        2.38  EA 
332031-060 PIPE 3/4", 6" LG, PVC-80   $        3.37  EA 
332031-187 PIPE 3/4", 18-3/4" LG, PVC-80   $        8.30  EA 
332031-310 PIPE 3/4", 31" LG, PVC-80   $      14.12  EA 
332038-05 CONNECTOR, 3/8" OD, 1/4" ID, TRUESEAL   $        1.87  EA 
332038-06 ELBOW, SWIVEL, 3/8"ODX1/4"MNPT, TRUESEAL   $        3.08  EA 
332038-07 ELBOW,UNION,TUBE/TUBE STEM,1/2" TRUESEAL   $        8.11  EA 
332038-08 CONNECTOR, MALE,1/2"ODX1/2"MNPT,TRUESEAL   $        9.00  EA 



FRESENIUS MEDICAL CARE - SPARE PARTS PRICE LIST 
Part# Description BlueStar Price U/M 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

PAGE 18 5/15/2019 450347 Rev R 

332045-03 VALVE, BALL, 3/4" SOCKET, PVC   $      63.47  EA 
332045-05 VALVE, BALL, 1", SOC, PVC   $      29.11  EA 
332045-06-01 VALVE, END CONNECTOR, 1", SOC, PVC 80   $      64.34  EA 
332045-06-02 VALVE, UNION NUT, PVC 80   $      63.36  EA 
332045-09 VALVE, BALL, 3/8"ID X 3/8"MNPT, TRUESEAL   $      15.36  EA 
332045-09-01 CLIP, SAFETY, 3/8" OD, TRUESEAL   $        0.52  EA 
332045-11 VALVE, BALL, 1/4" X 1/4" FNPT, GRAY, PVC   $      15.36  EA 
332045-11-01 HANDLE, FLAG, GRAY   $        1.08  EA 
332045-12 VALVE, BALL, 1/4" X 1/4" FNPT, RED, PVC   $      15.36  EA 
332045-12-01 HANDLE, FLAG, RED   $        1.08  EA 
332045-12-02 HANDLE, FLAG, CLEAR   $        1.04  EA 
332045-13 VALVE, BALL, 1/4" X 1/4" FNPT, BLUE, PVC   $        5.63  EA 
332045-13-01 HANDLE, 2-WAY, FLAG, PVC, BLUE   $        1.08  EA 
332049-04 TEE,UNION,1/2" X 1/2" X 3/8",WHT PP,EPDM   $        3.21  EA 
332049-05 TEE, UNION, 3/8", TRUESEAL   $        2.57  EA 
332049-06 TEE, 1IN X 1/4NPT X 1IN, MALE BRANCH,PFA   $      88.49  EA 
332062-02 ELBOW, 90 DEG. 3/4" SKT, PVC,SUB G30-013   $        8.62  EA 
332062-03 ELBOW, 90 DEG. 1" SOCKET, PVC   $        8.24  EA 
332062-04 ELBOW, 45 DEG. 3/4" FIPT, PVC   $      17.78  EA 
332062-05 ELBOW, 90 DEG. 3/4" X 1/2" SOCKET   $        6.59  EA 
332062-07 ELBOW, 3/4 SOC X 3/4 FIPT 90 DEG PVC-80   $      14.73  EA 
332062-09 ELBOW, 1", 90 DEG, SOC X FIPT, PVC   $      14.88  EA 
332062-10 ELBOW, 1", SIDE SOC, PVC 40   $      10.94  EA 
332062-11 ELBOW, 90, 1/2", FIPT X SOC, PVC   $      11.74  EA 
332062-12 ADAPTOR, 1", SPIG X FIPT, PVC 80   $        9.00  EA 
332062-16 ADAPTOR, 1" MIPT X SOC, PVC 80   $      10.30  EA 
332062-23 ELBOW, FITTING, 1/2", HOSE X FNPT, PVC   $        1.20  EA 
332062-25 ADAPTER, 3/4" MNPT X 1/2" HOSE, PVC   $        4.74  EA 
332067-02 BARB FITTING, ELBOW, 1/4 BARB X 1/4 NPT   $        3.67  EA 
332071-01 CONNECTOR, BLOCK, 4-PORT, 1/4" FEMALE PS   $      49.36  EA 
332106-05 O-RING, WALTHER VALVE, SILICONE   $        6.97  EA 
332107-03 FITTING, 1/4 X 1/8 NPT BARB SS   $      21.62  EA 
332107-05 ADAPT, BARBED 1" HOSE PVC, SCH 80   $        5.80  EA 
332107-06 ELBOW, FEM LUER X 1/8 NPTM KYN   $        6.09  EA 
332107-07 ADAPTOR, 1" MIPT X 3/4" HOSE, PVC   $        4.78  EA 
332107-08 ADAPTOR, REDUCING PVC FEMALE, 1"X3/4"   $      11.12  EA 
332107-10-01 CAP, DUST, 3/4", POLYP   $      12.67  EA 
332111-01 TEE, BARB FITTING 1/4"X1/4"X1/4"   $        0.50  EA 
332127-19 COUPLING, 3/4'' SOCXSOC, PVC 80   $        8.95  EA 
332133-12 CHECK VALVE, TRUE UNION, 1" PVC   $    120.85  EA 
332136-04 TEE, 1" SOCKET, PVC, SCH 80   $      18.67  EA 
332136-05 TEE, 3/4" SOCKET, PVC, SCH 80   $      18.15  EA 
332137-04 COUPLING, TXT, 1/4" NPT PVC, FEMALE   $        5.80  EA 
332137-05 NIPPLE, 3/4" MIPT X 3/4" MGHT   $        2.50  EA 
332137-06 NIPPLE, 3/4" MIPT X 1-3/8"LONG (G30-054)   $        1.93  EA 
332137-06-01 NIPPLE, 3/4" X 5" LONG, THREADED   $        3.41  EA 
332137-07 ADAPTER, 3/4" FIPT-3/4" SKT   $      13.61  EA 
332137-08 COUPLING, 1" FIPT X 1" SOCKET, PVC   $      18.15  EA 
332137-09 NIPPLE, 1" MIPT, CLOSE   $        2.95  EA 
332137-15 BUSHING, 3/4" X 1/2", SPIG X SOC, PVC   $        3.74  EA 
332141-01 CONN. 3/16 X 3/16 BARB POLYETHLENE BLACK   $        1.25  EA 
332141-02 CONNECTOR, A&D BLOOD PRESSURE MODULE   $        5.42  EA 
332142-01 REDUCER BUSHING, 3/4X1/2 NPT   $      42.88  EA 
332142-02 BUSHING,REDUCING,1"X3/4",SxS,SUB G30-041   $      12.15  EA 
332142-04 BSHNG,RDCR,1-1/2,SPIGXFIPT,FG   $      12.98  EA 
332142-05 BSHNG,RDCR, 3/4" X 1/4", PVC, SCH 80   $        3.00  EA 



FRESENIUS MEDICAL CARE - SPARE PARTS PRICE LIST 
Part# Description BlueStar Price U/M 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

450347 Rev R 5/15/2019 PAGE 19 

332142-07 BUSHING,REDUCER,1/2"SPIG X 3/8" FIPT,PVC   $        5.24  EA 
332145-01 FITTING,REDUCING BARB.3/16X1/4 HDPE,BLAC   $        3.43  EA 
332146-02 ELBOW, 1/8" FNPT X 1/4" MNPT, POLYP   $        0.40  EA 
332147-06 4PORT DOUBLE ELBOW PLASTIC FITTING 3/32"   $        1.66  EA 
332147-07 TEE CONNECTOR PLASTIC FITTING 3/32"   $        1.55  EA 
332148-02 FITTING, 3/8" BARB X 1/8" MNPT, POLYP   $        0.11  EA 
332148-03 FITTING,3/8" BARB X 1/4" NPT,P POLYP   $        1.63  EA 
332151-04 NIPPLE BARBED 1/8 X 3/16   $        1.16  EA 
332151-06 3/16 INCH POLYPROPYLENE TEE   $        1.46  EA 
332163-01 CROSS, 1", SOC, PVC 80   $      40.09  EA 
334006-14 O-RING .489 ID X .103 WIDE, 2-112 EPR-70   $        0.29  EA 
334013-03 O-RING .176 ID .070 .003 SEC   $        0.20  EA 
334013-04 (B)O-RING .239 ID .070W EPR 70   $        0.23  EA 
334013-05 O-RING, .301 ID .070 .003 SEC   $        0.99  EA 
334013-18 O-RING, 1/2 ID X 1/16W EPDM 70   $        1.44  EA 
334014-01 (B)O-RING.234 ID .139 .003 SEC   $        0.50  EA 
334014-14 O-RING, 2.60MM ID X 1.20MM CS, FKM   $        2.44  EA 
334016-04 O-RING, SILICONE, 2-010   $        0.23  EA 
334021-03 O-RING, BUNA, 70 DUR, 1-3/8" OD   $        0.56  EA 
334021-04 O-RING, BUNA, 70 DUR, 7/16" OD   $        0.34  EA 
334021-05 O-RING, BUNA, 70 DUR, 1-7/8" OD   $        0.50  EA 
334021-06 O-RING, BUNA, 70 DUR, 2-3/8" OD   $        0.06  EA 
334021-09 O-RING, 1.046" ID, 0.139" W, EPDM, 70   $        3.22  EA 
334021-10 O-RING, 1.234" ID, 0.139" W, EPDM, 70   $        2.22  EA 
334028-01 O-RING 2-006, EPDM-80   $        1.55  EA 
334028-04 O-RING, 3.375" ID X 0.125" WIDE, EPDM   $        8.27  EA 
335006-01  B) TEFLON TAPE 1/4 INCH   $        4.97  EA 
335006-07 PE TAPE   $      37.45  EA 
335011-01 LUBRICANT, SILICONE   $      32.46  EA 
335038-04 BUMPER, ADH. BACKED 0.5 DIA.   $        0.19  EA 
335049-04 GREASE,FOMBLIN YVAC3   $    280.00  EA 
335108-06 CABLE JUMPER 6 INCHES LONG   $        1.70  EA 
335108-10 CABLE JUMPER 10 INCHES LONG   $        1.70  EA 
335130-02 TEST STRIPS, FORMALDEHYDE, REFRIGERATE   $      57.90  EA 
335142-01 WRENCH, DRUM PLUG   $      83.60  EA 
335146-02 INSERT, ACID PANEL, RED   $      31.94  EA 
335146-03 INSERT, BICARB PANEL, BLUE   $      31.94  EA 
336013-01 PUMP HOUSING, RYTON   $    167.79  EA 
336013-02 IMP. MAG. HOUSING W/WASHER   $    127.68  EA 
336013-03 IMP. MAG. ASSY, RYTON BUSH. PP   $    328.31  EA 
336013-04 SPINDLE, CERAMIC   $      54.71  EA 
336013-05 THRUST WASHER, CERAMIC   $      30.17  EA 
336014-05 PUMP,MARCH# TE-6T-MD,ASSY#1243-0001-0100   $ 1,075.45  EA 
336015-03 CLAMP, HOSE, 0.365" MIN DIA, SNAP, BLK   $        1.00  EA 
336015-06 CLAMP, HOSE, 7/8", SNAP   $        0.54  EA 
336015-08 CLAMP, HOSE, 1/2"NOM., .453"-.546", SNAP   $        2.56  EA 
336033-05 SHIM WASHER, 1/2 OD, 9/32 ID, 0.004 SS   $        0.33  EA 
336039-02 FAN 120V 2008H/K UPPER POWER SUPPLY   $      36.26  EA 
336052-02 HEAT SHRINK 1/4" ID POLY BLACK   $        0.18  IN 
336052-03 HEAT SHRINK 1/2" ID POLY BLACK   $        0.31  IN 
336052-08 HEAT SHRINK 1/8" ID POLY BLACK   $        0.18  IN 
336061-01 FAN CONNECTOR   $        6.83  EA 
336081-02 (B)TUBING 1/8 IDX1/4" SILICONE   $        0.23  IN 
336081-03 (B) TUBING 3/16 X 3/8 SILICONE   $        0.25  IN 
336082-02 (B)CABLE CLAMP 3/4" DIA   $        2.30  EA 
336086-06 NYLON SPACER, 0.14 ID X 1/4 OD X 5/16 LG   $        0.24  EA 



FRESENIUS MEDICAL CARE - SPARE PARTS PRICE LIST 
Part# Description BlueStar Price U/M 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

PAGE 20 5/15/2019 450347 Rev R 

336104-02 FILTER HOUSING, 10", 3/4" NPT   $      39.61  EA 
336104-02-01 O-RING, 3.375" ID, 0.152" W, EPDM   $        2.49  EA 
336114-02 REGULATOR, PRESSURE, 1/4" TUBE CONN, 2-1   $    111.91  EA 
336124-03 HANGER, SPLIT RING, 3/4" PIPE   $        9.18  EA 
336124-04 CLAMP, HOSE 11/16" TO 1-1/2", S.S.   $        2.16  EA 
336138-03 FILTER, IN-LINE, 3/16" BARBED   $        1.63  EA 
336140-01 KIDNEY HOLDER, COMPLETE   $      81.79  EA 
336140-02 DRIP CHAMBER HOLDER   $      10.74  EA 
337002-06 COVER, TANK, DOMED BOTTOM   $      44.88  EA 
337002-10 TANK LID COVER & RING   $      38.77  EA 
337002-12 TANK TWIST LID AND RING   $      62.11  EA 
337003-04 CASTER, 2" WHEEL, BLACK, LOCKING   $        2.14  EA 
337003-07 CASTER, SWIVEL W/BRAKE, 3"   $      16.20  EA 
337003-08 CASTER, SWIVEL, W/O BRAKE, 3"   $      13.74  EA 
337006-01 BOTTLE 500 CC (DISINFECT)   $        9.87  EA 
337008-02 CAP, 63MM WHITE   $        0.83  EA 
337019-10 LEVELER, 3/8-16, 2" LONG, NON-SKID, SS   $      36.98  EA 
337040-01 CASTER, 5D X 1-3/8W   $      80.18  EA 
337040-02 CASTER, 5D X 1-3/8W, W/BRAKE   $      98.45  EA 
337053-04 COVER, BOX, WEATHER PROOF   $        5.88  EA 
337068-02 HANDLE, RACK   $      31.72  EA 
338002-02 GAUGE 2" 30-0-30 COMPOUND   $    136.79  EA 
338002-03-01 COUPLING, 1/2" NPT X 1/4" NPT, PVC SCH 8   $        8.56  EA 
338002-05 GAUGE 4" -30 TO + 60, 1/2" NPT   $    231.81  EA 
338003-01 DIGITAL PRESSURE GAUGE 100 PSI-29.5 INHG   $    720.72  EA 
338005-02-01 WASHER, CAPTIVE #8 1/16 THK NY   $        0.12  EA 
338011-03 SPACER, 8MM HEX, M4, 25MM SS   $        1.35  EA 
338011-04 STANDOFF,8MM HEX,M4X13MM LG   $        1.34  EA 
338013-03 SPACER, NYL OD 3/4, ID 1/4, 3/8 L, NYLON   $        0.33  EA 
338013-06 SPACER, OD 1/2", ID 1/4" 7/8" LG, NYLON   $        0.12  EA 
338016-01 CLAMP, HOSE 7/32-5/8 DIA.   $        1.93  EA 
338047-032-02 HITCH PIN, 1/4"DIA X 2 1/4"LG. SS   $      25.28  EA 
338073-05 PCB EDGE SUPPORT, 1/2" HIGH   $        0.35  EA 
338144-41 FERRULE WASHER   $        0.07  EA 
360001-05 HOLDER, BATTERY, 9V, PANEL MOUNT   $      10.12  EA 
360001-07 LITHIUM 3V COIN CELL BATTERY, CR2032   $        0.55  EA 
360006-01 RELAY, SOLID STATE, 240V, 25A   $      99.10  EA 
361014-100 RESISTOR, 1M OHM, 1%, 1/4W, MF   $        0.03  EA 
361017-02 RELAY, 24VDC, CHUAN, 841   $      21.92  EA 
361017-03 RELAY, 15-30A, 24VDC COIL, SPDT   $      32.78  EA 
361017-04 POWER RELAY, DPST, 30AMP, 120VAC COIL   $      24.29  EA 
361032-50 RES ARRAY, 33.2 OHM X 4, 1%, ISO, SMD   $        0.04  EA 
361083-04 CAPACITOR BRACKET, DIA. 2", BLACK   $        1.82  EA 
361091-10 CAPACITOR,CER,10uF,+80-20%,16V,Y5V,0805   $        0.29  EA 
361216-01 CAPACITOR, ELECTRO 24000UF 40V   $      41.11  EA 
361216-03 CAP, 10µF, ±10%, 440V   $      18.52  EA 
361216-04 BRACKET, CAPACITOR, OVAL   $        1.62  EA 
361220-05 VARIABLE RESISTOR, 100 OHM, 10%, 5 WATT   $        7.84  EA 
362009-04 25 AMP BRIDGE RECTIFIER   $      10.42  EA 
362070-09 DIODE, SCHOTTKY MBR150   $        0.45  EA 
362122-02 IC QUAD 2-IN NAND GATE, PDIP-14   $        1.08  EA 
362195-03 IC OP AMP QUAD LM324N, DIP 14   $        0.81  EA 
362211-03 TRANS, MOSFET, 60A, 60V, N-CH   $      16.92  EA 
362211-04 IC, MOSFET, POWER SWITCH,  SMC   $        4.00  EA 
362364-01 IC, LM358N OP AMP   $        1.70  EA 
362402-01 IC 74LS244   $        1.21  EA 



FRESENIUS MEDICAL CARE - SPARE PARTS PRICE LIST 
Part# Description BlueStar Price U/M 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

450347 Rev R 5/15/2019 PAGE 21 

362406-01 TRANS, 2N3904   $        0.97  EA 
362460-01 IC, 2-IN NAND GATE*4, PDIP-14   $        0.54  EA 
362501-01 IC, QUAD 2-IN NOR GATE, PDIP-14   $        1.08  EA 
362516-01 IC, DUAL D FLIP FLOP, PDIP-14   $        1.35  EA 
362527-06 IC, FLASH, 1M  X  8, +3V, TSOP   $      12.69  EA 
362527-12 IC, FLASH MEMORY, 1M X 8, TSOP40   $        7.72  EA 
362527-14 IC, FLASH, 4M X 8-BIT, TSOP-40, SMD,ROHS   $      12.13  EA 
362536-02 IC, ISOLATOR 4N35   $        1.06  EA 
362536-03 IC, OPTO-ISOLATOR   $        4.13  EA 
362544-04 IC, PROT, ESD/OV, SO-8   $        3.76  EA 
362572-13 LED, GREEN, PLCC4 SMD, ROHS   $        2.44  EA 
362572-15 LED, GREEN, LOW CURRENT, 0603, SMD   $        0.99  EA 
362573-01 LED INDICATOR, GREEN HLMP-2500   $        3.73  EA 
362588-01 IC, QUAD 2 INPUT OR GATE, PDIP-14   $        6.68  EA 
362595-05 IC, MK48T08B 8KX8 ZPOWER RAM   $      37.40  EA 
362597-01 HOUR METER, LCD   $      30.10  EA 
362602-08 IC, CONTROL, TOUCH-SCREEN, SMD   $      28.83  EA 
362602-11 IC,MPU,MPC823,PGBA 23X23/1.27   $      91.77  EA 
362634-07 XTAL, 13.56MHZ, 18PF CAP.LOAD, SMD, ROHS   $        2.26  EA 
362637-01 IC, SRAM 32K X8 D43256   $      17.90  EA 
362637-07 BATT PACK, SRAM, M4T28-BR12SH1, ROHS   $      12.19  EA 
362637-09 IC, DRAM, SYNC, TSOP   $        9.46  EA 
362639-01 IC, PBL3770A   $      11.80  EA 
362644-04 IC, HIGH SPEED OPTOCOUPLER, DUAL CHANNEL   $        2.62  EA 
362650-32 COMPACT FLASH CARD 32GB   $    122.98  EA 
362650-64 COMPACT FLASH CARD 64GB   $    200.30  EA 
363005-02 PUSHBUTTON, LATCHING   $      53.87  EA 
363020-01 SWITCH, ROCKER SPDT 20A 125V   $        5.61  EA 
363029-05 POWER SWITCH   $      40.21  EA 
363029-09 SWITCH, DUAL BREAKER POWER, UL   $      76.56  EA 
365037-02 POWER SUPPLY, 24V, 4.8A   $    292.98  EA 
365067-07 PATCH CABLE ASSY, 1FT, CAT5E, RJ45, GRAY   $        9.89  EA 
365067-08  CABLE,USB 2.0,A MALE TO MINI B MALE,0.8M    $        5.04  EA 
367013-12 FUSE, 6.3A, 250VAC, TIME-LAG 5X20MM *  $        0.29  EA 
367020-02 FUSE,SLO BLO,3AG, 2A,1/4X1-1/4   $        0.85  EA 
367020-05 FUSE, SLO BLO, 3AG, 3A, 1/4" X 1" LONG   $        0.85  EA 
367029-01 Y EXTENSION CORD   $      35.43  EA 
367030-01 FILTER POWER LINE 3A 250V   $      25.58  EA 
367031-01 LINE FILTER-SURGE PROTECTOR   $      54.15  EA 
367032-01 CORE, FERRITE, POWER SUPPLY   $        6.07  EA 
367032-05 FERRITE CORE, 1.142OD, 0.748ID, 0.295LG   $        0.61  EA 
368002-01 POWER PLUG 15A125V HOSP GRADE   $      18.97  EA 
368002-02 PLUG, MALE, NEMA 5-20P, HOSPITAL GRADE   $      33.62  EA 
368004-05 CABLE, 16 AWG, 4 COND. BLACK   $        1.50  IN 
368013-01 TERMINAL BLOCK,1 POS, 10-30AWG   $        7.58  EA 
368016-01 STRAIN RELIEF FLEXIBLE PD-13   $        3.62  EA 
368016-05 CONN,CORD,0.375 DIA,FORM F2,AL   $      13.63  EA 
368016-07 STRAIN RELIEF, HEYCO 3213, LTF11   $        4.74  EA 
368025-01 (B)WIRE 16 AWG GRN/YL 600V STR   $        0.02  IN 
368046-05 GROMMET, 1" ID, 1-3/4" OD   $        1.41  EA 
368101-03 COUPLING, 8 POS, RJ45, PANEL MOUNT   $      12.41  EA 
368137-06 CABLE, RIBBON, 28AWG, 26C, UNSHLD   $        3.58  IN 
368154-10 HEADER, 4 POLE FPC, TOP CONTACT, SMD   $        1.24  EA 
368156-08 SOCKET, 8-PIN DIP, OPEN FRAME   $        0.93  EA 
368167-01 BARRIER STRIP TYPE 10E/3DS   $        3.11  EA 
368171-02 RECEPTACLE, DUPLEX GFCI, 120V, 20A   $      54.96  EA 



FRESENIUS MEDICAL CARE - SPARE PARTS PRICE LIST 
Part# Description BlueStar Price U/M 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

PAGE 22 5/15/2019 450347 Rev R 

368179-11 (B)WIRE 20 AWG BLUE 600V   $        0.01  IN 
368189-01 TY-WRAPS,PLAS MINI 3-7/8" LONG   $        0.04  EA 
368189-03 (B)CABLE TIE 7-3/8"LG   $        0.07  EA 
368189-04 (B) CABLE TIE, 14-1/2" LG   $        0.38  EA 
368206-06 XFMR, ISOLATION, RS232, 1/1, SMD   $      12.24  EA 
368208-03 CONN, 20 PIN HEADER, RIBBON CABLE W-STRN   $        2.37  EA 
368213-02 TERMINAL 22-18AWG.032X.187 TAB   $        0.29  EA 
368263-03 CONN., R.A. HDR, 8PIN, NO SNAP LOCK   $        3.46  EA 
368312-02 CABLE CLIP, FLAT MNT, W/ADHESIVE BACKING   $        0.33  EA 
368313-02 CABLE 16GA 3 COND. BLK WHT GRN   $        0.34  IN 
368317-01 MARKER, CABLE TIE 3-7/8"LG X 3/4"WIRE   $        0.33  EA 
368331-05 WIRE, 16 AWG, STR, GREEN, UL1015, 600V   $        0.12  IN 
368332-03 TAB TERMINAL, 45 DEG. 0.25 WIDE   $        0.26  EA 
368345-03 TRIM, 5/16" X 21/32", PVC VINYL   $        0.19  IN 
368346-03 BUMPER, 3/4OD X 9/16H X 3/16ID   $        0.34  EA 
368374-01 CONNECTOR,MALE,PIN,DEMA,9P   $        4.85  EA 
368387-05 POWER CORD, 16AWG   $      62.60  EA 
368392-03-01 RECEPTACLE, 3 POLE AMP 641190-3   $        1.06  EA 
368395-02 POWER CORD,110V,HOSPITAL GRADE,10FT,ROHS   $      16.47  EA 
368400-01 HEATSINK, SIL PAD TO220   $        0.66  EA 
368402-05 ADAPTER, AT KEYBOARD - PS2   $      25.51  EA 
368402-07 ADAPTER, LPT TO USB PRINTER   $    286.32  EA 
368402-10 MESA SERIAL CABLE-DISPLAY TO COMPUTER 5M   $    240.24  EA 
368410-29 HDR, 5 PIN, 0.100" LS, VERT FRIC LOCK   $        3.00  EA 
368410-86 HEADER,THRU HOLE,SHROUDED,22 PIN,RA,TE   $        3.86  EA 
368411-07-01 CONNECTOR, 26 AWG, 7 POS.   $        3.28  EA 
368412-06 6 PIN CONNECTOR COVER, AMP   $        0.84  EA 
368412-07 CONNECTOR COVER, 7 PIN AMP 24G   $        0.88  EA 
368558-05 IC, EEPROM, SERIAL, 8K X 8, DIP8   $        0.70  EA 
368558-05 IC, EEPROM, SERIAL, 8K X 8, DIP8   $        0.70  EA 
368558-06 IC, PROM, SERIAL CONFIG, 1M   $      41.90  EA 
368598-13 DISPLAY LCD, 640X480, NEC-64   $    341.64  EA 
370004-05 INVERTER, DC TO AC, ERG DMA22965   $      41.44  EA 
370004-10 INVERTER BOARD, NEC, 2 LAMP   $      53.39  EA 
370006-06 SPEAKER, 8 OHM 3W 66MM SQUARE   $      29.10  EA 
370052-03 AQUABOSS PRE-TX WATER SAMPLING NIPPLE   $      34.66  EA 
370052-04 AQUABOSS DRAIN CONNECTOR   $    122.77  EA 
370052-05 AQUABOSS PERMEATE TUBING (wht)   $        0.21  IN 
370052-07 AQUABOSS DRAIN WATER TUBING (red)   $        0.22  IN 
370052-09 AQUABOSS RUBBER FOOT W/ EXTERNAL THREAD   $        3.92  EA 
370052-10 AQUABOSS SCREW, HEXAGON, M4X8   $        0.28  EA 
370052-101 FLOW RESTRICTOR Y6 VALVE SEAT 3.5L MIN   $        5.41  EA 
370052-102 DISINFECTION PIPE   $      36.97  EA 
370052-103 SILICON MEMBRANE DISINFECTION 8MM X 3MM   $        0.98  EA 
370052-105 PCB RELAY, 16A, 24V, DC COIL   $        7.82  EA 
370052-108 BYPASS NEEDLE VALVE ECO RO DIA 70   $      14.04  EA 
370052-11 AQUABOSS CONTROL CIRCUIT BOARD CPU   $    787.07  EA 
370052-111 UPGRADE KIT AQUABOSS Eco 50/70 TYPE Y08   $    725.21  EA 
370052-112 RETROFIT BREAK TANK OVERFLOW KIT&INSTALL   $      80.69  EA 
370052-114 MANOMETER PI1, PI5, PI7, AQUABOSS   $      13.75  EA 
370052-115 SOCKET, RELAY, POWER CONTROL BD LT2 PLUS   $      28.35  EA 
370052-116 AQUABOSS HOSPITAL GRADE PLUG AND CABLE   $      72.73  EA 
370052-117 AQUABOSS TUBING TANK-PUMP ECO 70   $      36.41  EA 
370052-119 AQUABOSS TUBING SET (ID 9MM)   $      45.92  EA 
370052-12 AQUABOSS SEAL,252 X 174 X 1.5,EPDM,BLACK   $        5.11  EA 
370052-13 AQUABOSS FINE WIRE FUSE, 5X20MM, 6,3   $        0.29  EA 



FRESENIUS MEDICAL CARE - SPARE PARTS PRICE LIST 
Part# Description BlueStar Price U/M 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

450347 Rev R 5/15/2019 PAGE 23 

370052-14 AQUABOSS FINE WIRE FUSE, 5X20MM, 0,63   $        0.30  EA 
370052-17 AQUABOSS RIBBON CBLE W/PLUG,40-PIN,L=160   $      35.53  EA 
370052-18 AQUABOSS BATTERY, LITHIUM 3V   $        7.90  EA 
370052-19 AQUABOSS SILICONE MEMBRANE W/ SCREW PLUG   $        7.48  EA 
370052-20 AQUABOSS DESINFECTION PIPE, UNIT   $      20.49  EA 
370052-23 AQUABOSS TANK WITHOUT COVER   $    433.91  EA 
370052-24 AQUABOSS PLUG FOR TANK CONNECTION, UNIT   $      11.44  EA 
370052-28 AQUABOSS SLIDING VANE ROTARY PUMP 115V   $    388.82  EA 
370052-29 AQUABOSS COUPLING, MOTOR / PUMP   $      13.06  EA 
370052-30 AQUABOSS SOUND ABSORBING MAT   $      69.32  EA 
370052-31 AQUABOSS TEMPERATURE SWITCH 24 V DC,1/4"   $      86.49  EA 
370052-32 AQUABOSS O-RING DIA 11,11 X 1,78   $        2.45  EA 
370052-34 AQUABOSS CONDUCTIVITY ELECTRODE ASSEMBLY   $      33.28  EA 
370052-36 AQUABOSS NTC SENSOR, WITH PVC CABLE 2X0   $      42.13  EA 
370052-38 AQUABOSS MEMBRANE MODULE 4014 E2 ASSY   $ 3,201.64  EA 
370052-39 AQUABOSS TUBING SET,DIA 50/70 (POS. 1-8)   $        6.88  EA 
370052-42 AQUABOSS P-Y-DOUBLE ADAPTER, W/ HOSE 4MM   $    222.90  EA 
370052-45 AQUABOSS SCREW-DRIVER, HEXAGON- SW 2.5   $        0.95  EA 
370052-46 AQUABOSS FILTER UNIT Eco 50/70   $    284.51  EA 
370052-48 AQUABOSS PRESSURE REDUCER ¼", 0-9 BAR   $      64.43  EA 
370052-51 AQUABOSS SET OF SCREWS EcoRO DIA 50/70   $      34.76  EA 
370052-52 AQUABOSS FILTER KIT, 9-3/4", 5 MICRON   $    196.49  EA 
370052-54 AQUABOSS, EPROM, PROGRAMMED, CPU BOARD   $      25.85  EA 
370052-58 AQUABOSS, FILTER CARTRIDGE 1-1/2" X 5µm   $      24.73  CS 
370052-59 AQUABOSS, FILTER CARTRIDGE 2-1/2" X 7µm   $      53.52  CS 
370052-67 AQUABOSS,CARBON TANK RETAINER CLIP(PAIR)   $        3.98  EA 
370052-68 MEDIC ANTISTICK CONNECTOR   $        0.43  EA 
370052-69 SYRINGE 60CC LUERLOK   $        4.95  EA 
370052-72 AQUABOSS OPERATOR'S MANUAL   $      18.09  EA 
370052-73 O-RING, PREFILTER, 9-3/4"   $        6.52  EA 
370052-74 O-RING,  PREFILTER, 1.5", 2.5"   $        1.20  EA 
370052-75 CARBON TANK EXCHANGE BAG 18L   $    107.97  EA 
370052-76 CONNECTING SET, CARBON TANK   $      45.71  EA 
370052-81 THROUGHFLOW AMOUNT CONTROLLER 1.3 L/MIN   $      10.29  EA 
370052-82 THROUGHFLOW AMOUNT CONTROLLER 1.1 L/MIN   $      29.78  EA 
370052-84 BAND CLAMP, 11.3MM   $        0.75  EA 
370052-86 AQUABOSS PRE-FILTER CUP, SHORT, 1.5"   $      13.54  EA 
370052-87 AQUABOSS PRE-FILTER CUP, LONG, 2.5"   $      29.73  EA 
370052-88 CS CIRCLIP   $      14.31  EA 
370052-89 AQUADOCK CARBON TANK STRAP   $      13.28  EA 
370052-90 BANJO BOLT WITH NEEDLE VALVE, 8-14"   $    196.74  EA 
370052-91 AQUADOCK CART BRACE AND NUT PLATE   $      34.23  EA 
370052-92 TUBING AND FITTING SET, COMPLETE   $      90.36  EA 
370052-96 GARDEN HOSE CONN 1/4"HOSE NOZZEL X3/4"GH   $        2.33  EA 
370052-98 CARBON TANK CONN IN QUICK CONN 3/4 X 1/4   $      33.17  EA 
370052-99 CARBON TANK CONN OUT QUICK CONN 3/4X1/4   $      33.17  EA 
370103-67 RES, 46.4K OHM, 1%, 1/16W, 0603, SMD   $        0.07  EA 
370203-05 CAP, 47UF, 10V, 20%, TANT, 7343   $        0.33  EA 
370203-10 CAP, 100UF, 16V, 20%, TANT, 7343   $        0.73  EA 
370210-02 CAP, 12000PF, 50V, 10%, X7R, 0603, ROHS   $        0.11  EA 
370221-01 CAP, 22PF, 50V, 5%, NPO, 0402, ROHS   $        0.11  EA 
370253-03 BEAD CORE, 68 OHM, 3A, 1206, SMC   $        0.34  EA 
370302-09 DIODE, SCHOTTKY, 70V, 70MA, SOT23, ROHS   $        0.08  EA 
370304-02 DIODE, TVS, 5V, DO-214AB   $        1.55  EA 
370304-03 DIODE, TVS, 12V, DO-214AB   $        1.59  EA 
370304-08 DIODE,TVS,UNIDIRECTION,5 VOLT,SOD-323,SM   $        1.75  EA 



FRESENIUS MEDICAL CARE - SPARE PARTS PRICE LIST 
Part# Description BlueStar Price U/M 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

PAGE 24 5/15/2019 450347 Rev R 

370502-13 IC, LDO REGULATOR, 3.3V, 800MA, SOT-223   $        1.71  EA 
370505-10 IC, SUPER I/O, PC97317, PQFP   $      27.24  EA 
370505-18 IC, SINGLE UART, 12C/SPI, TSSOP-16   $        0.03  EA 
370506-09 IC, DUAL HIGH SIDE DRVR, SOIC20   $        8.47  EA 
370506-12 IC, PRESSURE TRANSDUCER,15PSI,D4 PACKAGE   $      33.35  EA 
370506-13 IC,PRESSURE TRANSDUCER,100PSI,D4 PACKAGE   $      33.35  EA 
370506-18 IC,HIGH SIDE DRVR,1.6A,36V,D2PAK5,ROHS   $        0.04  EA 
370507-25 IC, OCTAL RELAY DRIVER, 60V, SMC   $        7.64  EA 
370508-03 IC, XCVR/REG, TTL16652, SSOP56, ROHS   $        3.62  EA 
370519-01 IC,USB 2.0 PROCESSOR,AT43USB380E-AU,ROHS   $        0.04  EA 
370522-01 IC,COACH3,TCHSCREEN CNTRLLR,TQFP-64,ROHS   $      26.76  EA 
370605-01 OSCILLATOR, 5 MHZ, CER, SMD   $        7.39  EA 
370607-03 XTAL, 7.3728 MHZ, 18PF CAP LOAD, SMD   $        2.18  EA 
370740-26 CAP,CER, X5R, 10UF, 25V, 10%, 1206, ROHS   $        0.19  EA 
390009-04 STEPPER MTR,1.8 DEG,2.33V,1.56 OHM,AVAGO   $    263.61  EA 
539146-Q CABLE, HEPARIN PUMP   $      18.38  EA 
539148-Q CABLE, 20 PIN RIBBON, 28"   $      17.85  EA 
645199-Q WASHER, LEVEL DETECTOR   $        0.42  EA 
650858-Q BRAKE CABLE ROLLER   $        2.91  EA 
652916-Q ASSY, CABLE 20 PIN RIBBON, 28"   $      56.10  EA 
669951-Q ASSY, CABLE, 24V SUPPLY   $      12.42  EA 
669983-Q ASSEMBLY, LP545, TEST BOARD   $    216.44  EA 
670658-Q ASSY, CABLE 10 PIN RIBBON, 44"   $        7.38  EA 
672958-Q VALVE, SOLENOID, SINGLE PORT W/O CABLE   $      38.69  EA 
A897-06064-018 SCRW, FHSH, M6X20 DIN 7991-TL   $        0.22  EA 
A897-06904-001 BATTERY, 12V, 2.5AH   $ 1,067.28  EA 
EQASSYDISJUG DISINFECT JUG   $    324.00  EA 
EQMOCO01067 WATER QUALITY BOARD PB II R.O.   $ 1,003.56  EA 
EQMTOO00920 1/2 HP DAYTON 115/220VAC MOTOR   $    355.88  EA 
EQPUPR00917 PIGGY BACK PUMP   $    555.15  EA 
EQSUBPB2FM PB2 FLOWMETER ASSEMBLY   $    163.54  EA 
EQSUBPB2PBPUMP PUMP ASSEMBLY FOR PB II   $    640.57  EA 
F40003465 FILTER, FOR TUBE WITH O.D. OF 5.5 MM   $        1.67  EA 
F40004203 FILTER, DIASAFE KIT   $        3.69  EA 
F40005071 BLOOD LEAK DETECTOR WITH PCB PACKED *  $    171.02  EA 
F40007099 O-RING, ID 9 MM X 1.5 MM, EPDM, 70   $        0.12  EA 
F40007100 O-RING, ID 3.5 MM x 1.5 MM, EPDM, 70 *  $        0.12  EA 
F40007101 O-RING, ID 6 MM X 1.5 MM, EPDM, 70 *  $        0.16  EA 
F40007103 O-RING, ID 17.17 MM X 1.78 MM, EPDM, 70 *  $        0.33  EA 
F40007106 O-RING, ID 8 MM X 2 MM, EPDM, 70 *  $        0.12  EA 
F40007107 O-RING, ID 4.47 MM X 1.78 MM, EPDM, 70 *  $        0.12  EA 
F40007128 BICARBONATE PUMP BLUESTAR PACKED   $    318.94  EA 
F40007129 UF PUMP BLUESTAR PACKED *  $    271.60  EA 
F40007660 CONNECTOR PRESSURE GAUGE ASSY, YELLOW *  $      48.77  EA 
F40008692 AIR SEPARATOR BIBAG BLUE STAR PACKED *  $    102.11  EA 
F40008703 BLUESTAR DIASAFE PLUS KIT W/RATIO VALVE   $    202.14  EA 
F40009108 CONC. PLUG W/ TRANSP. TUBE BLUESTAR PACK *  $      56.84  EA 
F40009110 BICARB PLUG W/TRANSP. TUBE BLUESTAR PACK *  $      56.60  EA 
F40011368 ACTIVE REGULATOR BIBAG GEN2 PACKED *  $    436.84  EA 
F40011858 VALVE BLOCK #24/#26 BLUE STAR PACKED *  EA 
G09-240 CABLE PREP, PUMP DRY SENSOR, DISSOLUTION *  $      53.27  EA 
G09-241 CABLE PREP, LOW LEVEL SENSOR   $        8.58  EA 
G09-242 CABLE PREP, MID LEVEL SENSOR   $        9.29  EA 
G09-243 CABLE PREP, UPPER LEVEL SENSOR   $      12.85  EA 
G09-245 CABLE PREP,MIX MOTOR,DISS.UNIT   $      38.78  EA 
G15-017 BULBS, CONTROL PANEL, INCANDESCENT   $        8.26  EA 



FRESENIUS MEDICAL CARE - SPARE PARTS PRICE LIST 
Part# Description BlueStar Price U/M 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

450347 Rev R 5/15/2019 PAGE 25 

G15-019 LENS, PANEL, BLUE   $        4.76  EA 
G15-020 LENS, PANEL, GREEN   $        5.39  EA 
G15-021 LENS, PANEL, RED   $        5.39  EA 
G15-024 FUSE, 500V, 15A, SLOW, 5AG   $      27.42  EA 
G15-026 FUSE, 250V, 1A, SLO-BLO   $        2.69  EA 
G15-027 FUSE HOLDER, 30A, 250V   $        6.35  EA 
G26-110 SCREW, CAP, 1/4-20 X 5/8"   $        0.32  EA 
G26-223 SCREW, MACHINE, 1/4-20 X 1"   $        0.38  EA 
G26-233 SCREW, FHSCS, 3/8-16 X 1.0" L, SS   $        1.65  EA 
G26-234 SOCKET HEAD CAP SCREW,1/4-20 X 1-1/2",SS   $        0.50  EA 
G26-245 SCREW, MACHINE, 6-32 X 1/2"   $        0.12  EA 
G26-247 WASHER, LOCK, 1/2"   $        0.27  EA 
G26-255 SCREW, SHCS, 1/2-13 X 1-1/4", SS   $        0.81  EA 
G26-256 PHPH, #8 X 1/2", SS   $        0.50  EA 
G26-257 SCREW,PHILLIPS #8 X 3/8", SS   $        0.50  EA 
G26-262 SCREW, CAP, 1/4-20 X 1-1/4"   $        0.27  EA 
G26-263 SET SCREW, #10-24 X 1/4", SS   $        0.50  EA 
G30-001 ADAPTER, MALE, 3/4" , PVC, SCH 80   $        5.69  EA 
G30-008 BUSHING, REDUCING, 1-1/2" X 3/4", PVC, S   $        8.75  EA 
G30-017 ELBOW, 1-1/2", SCH. 80, PVC   $      30.59  EA 
G30-018 FITTING, BULKHEAD, 3/4"   $      17.63  EA 
G30-025 TEE, 1-1/2", SLIP, PVC, SCH 80   $      24.82  EA 
G30-035 PIPE, 3/4" X 10FT, PVC, SCH 80   $        0.06  IN 
G30-037 PIPE, 1-1/2" OD, PVC, SCH 80   $        0.22  IN 
G30-039 BUSHING, REDUCING, 1" X 1/2"   $        4.06  EA 
G30-040 PIPE, PVC, 1/2"   $        0.67  IN 
G30-042 ADAPTER, MALE, 1/2" NPT, PVC, SCH 80   $        5.19  EA 
G30-044 ELBOW, 90 DEGREE, 3/4", THD TO THD   $        7.05  EA 
G30-045 NIPPLE, 3/4 X 6"   $        2.15  EA 
G30-046 UNION, 3/4" PIPE, PVC SCH 80   $      15.49  EA 
G79-000-05 SWITCH CONTACTS   $      41.08  EA 
G79-000-07 TRANSFER VALVE   $    794.50  EA 
G79-000-11 TRANSFORMER   $      83.20  EA 
G79-000-14 MOTOR STARTER   $    379.03  EA 
G79-000-26 JAR, HYDROMETER, 500 ML   $      42.45  EA 
G79-000-33 RECIRCULATION PUMP, VERSION II   $    937.92  EA 
G79-000-40 FILL VALVE   $    930.34  EA 
G83-535-02 WIDE MOUTH BOTTLE, 125ML   $        6.30  EA 
G84-001-05 TOP COVER, DISSOLUTION TANK   $    182.69  EA 
G84-001-06 END COVER, DISSOLUTION TANK   $    303.97  EA 
G84-001-07 MIXER MOTOR MOUNT   $    897.69  EA 
G84-001-09 RETAINING SEAL   $      53.93  EA 
G84-001-10 O-RING, DISSOLUTION TANK   $        3.62  EA 
G84-001-11 SPRAY BALL   $    336.23  EA 
G84-001-15 MIXER MOTOR SHAFT COUPLING   $    159.61  EA 
G84-001-16 BASE FEET   $      92.88  EA 
G84-001-20 FILTER HOUSING   $    179.55  EA 
G84-001-21 HOLDER, FILTER HOUSING   $    299.24  EA 
G84-001-23 END PLATE   $      40.82  EA 
G84-001-24 MOTOR, 1/3 HP END MOUNTED 115V AC, UL   $    298.65  EA 
G84-001-43 WRENCH, FILTER HOUSING   $      15.23  EA 
G84-001-50 SLIP COLLAR - DISSOLUTION TANK   $      27.01  EA 
G84-001-55 CLAMP, HOSE, 9/16 - 1-1/16" DIAMETER, SS   $        1.74  EA 
G84-001-57 COUPLER, 3/4" HOSE SHANK   $      30.46  EA 
G84-001-58 HOSE, 3/4", FOOD GRADE   $        0.61  IN 
G84-001-60 HYDROMETER   $      34.55  EA 



FRESENIUS MEDICAL CARE - SPARE PARTS PRICE LIST 
Part# Description BlueStar Price U/M 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

PAGE 26 5/15/2019 450347 Rev R 

G84-001-61 BASE GUARD DISSSOLUTION TANK   $      50.47  EA 
G84-001-62 CHECK VALVE, TRUE UNION   $      75.66  EA 
G84-001-64 NIPPLE, PLASTIC HOSE   $        7.98  EA 
G84-001-69 VALVE, BALL, 3/4" PIPE, PVC, SCH 80   $      43.19  EA 
G84-001-70 PLUG, 1/2" HOLE, HD 11/16" X 0.062" THK,   $        0.27  EA 
G84-001-78 O-RING FILTER HOUSING GRANUFLO I   $        9.18  EA 
G84-001-79 TAPE, FOAM, ONE SIDED ADHESIVE, 3/4" W   $        0.05  IN 
G84-202-12 FILTER CARTRIDGE, 1 MICRON   $        6.92  EA 
G97-283-08 DISSOLUTION TANK, NOZZLE ASSY.   $      71.40  EA 
G97-283-11 EEPROM,GRANUFLO PROG.(RUN)   $    362.99  EA 
G97-283-19 EEPROM,GRANUFLO PROG.(MASTER)   $    383.24  EA 
M05717 BLACK WIRE TUBE CLAMP, 14MM ID   $        0.31  EA 
M30225 FILTER   $        6.52  EA 
M30341 LEVEL DETECTOR HOUSING, COMP., 2008K   $    222.06  EA 
M30342 LEVEL DETECTOR HOUSING, 2008K   $      20.63  EA 
M30343 LATCH, MOLDED, L.D., 2008K   $        3.91  EA 
M30344 OPTICAL SENSOR, COMPLETE, L.D. MODULE   $      46.05  EA 
M30347 DOOR, OPTICAL SENSOR, MOLDED, 2008K   $        3.00  EA 
M30348 CAP, OD 7MM, SCREW COVER, 2008K   $        1.48  EA 
M30444 PUMP, STEPPER, CONCENTRATE   $    413.59  EA 
M30576 COVER, FILTER HOLDER, DIASAFE PLUS   $      21.65  EA 
M30660 TOUCH PAD, BLOOD PUMP MODULE   $      61.09  EA 
M30661 CLAMPING PIECE, ROSE GREY   $        3.56  EA 
M30671 SENSOR, DOOR MAGNET, HOLDER / HARNESS, B   $      14.00  EA 
M30677 RING, DOOR MAGNET, 2008K BLOOD PUMP   $        5.10  EA 
M30682 O-RING 32MM I.D. X 2.5MM WALL   $        0.79  EA 
M30912 GEAR MOTOR WITH CONNECTOR HP 2008K   $    119.28  EA 
M30971 TRANSDUCER PROTECTOR AND LINE   $      35.70  EA 
M30990 ROTOR, BLOOD PUMP, ROSE GREY   $    190.01  EA 
M31138 BRACE, HYDROBLOCK COVER   $      18.16  EA 
M31175 PLATE, BLANK, MODULE, ROSE GREY   $      45.40  EA 
M31268 ASSY,PLATE,TUBING ORG,2008K - SUB M31356   $      94.75  EA 
M31355 DRIP CHAMBER CLIP, ROSE GREY   $        2.01  EA 
M31451 ASSY, LP450, SMT, LEVEL DETECTOR BOARD   $    277.96  EA 
M31782 CABLE ASSY, LEVEL ADJUST SWITCH   $        6.38  EA 
M31909 BLOOD VOLUME MONITOR, ROSE GREY   $ 2,863.88  EA 
M32019 LATCH, LEVEL DETECTOR, KIT (ROSE GRAY)   $        5.77  EA 
M32497 FLOW INDICATOR, UNIT   $      39.16  EA 
M32592 2008K SNSK BLOOD PUMP   $ 1,332.42  EA 
M32935 SPACER, OD 6MM, ID 3.4MM, 6.5MM LG, NYLO   $        0.30  EA 
M33237 LOCTITE, FAST-ACTING GLUE, NO. 401, 20ML   $      47.72  EA 
M33407 DISK, COVER , RED, PLASTIC, SHUNT   $        0.24  EA 
M33408 DISK, COVER, BLUE, PLASTIC, SHUNT   $        0.24  EA 
M33533 LUER LOCK PRESSURE PORT 2008K MODULES   $    117.41  EA 
M33583 DISTRIBUTION BOX WITH COVER, WAS 645596   $      52.15  EA 
M33966 SEAL, HYDROCHAMBER, MOLDED DE   $      16.63  EA 
M33969 PLUG, SEAL, OVERFLOW   $        1.28  EA 
M33974 HYDROCHAMBER, COMPLETE ASSEMBLY, MOLDED   $    510.14  EA 
M34924 O-RING 15.60MM I.D. X 1.78MM WIDE   $        1.28  EA 
M34925 O-RING 20.35MM I.D. X 1.78MM WIDE   $        0.79  EA 
M34990 O-RING, 32MM X 2MM EPDM E7518   $        0.41  EA 
M35686 SLEEVE, OUTER, FLOW INDICATOR,WAS 567209   $        9.13  EA 
M38033 FITTING, REDUCER PVDF   $        7.35  EA 
M38548 HEX STANDOFF M/F 35MM LG. M4   $        0.68  EA 
M39184 BLOOD LEAK DETECTOR   $    195.51  EA 
M39460 VALVE, SOLENOID, 24V 3-WAY, WAS 670346   $      75.62  EA 



FRESENIUS MEDICAL CARE - SPARE PARTS PRICE LIST 
Part# Description BlueStar Price U/M 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

450347 Rev R 5/15/2019 PAGE 27 

M42354 SEAL   $        3.05  EA 
M42408 ASSY, SHUNT CABLE WITH FERRITE CORE   $      34.55  EA 
M42674 O-RING,12.37MMX2.62MM WALL,SOLD MULT. 25   $        0.33  EA 
M42892 CLAMP   $        3.68  EA 
M43610 COUPLING RED DIALYSATE, ENHANCED   $      31.14  EA 
M43611 COUPLING BLUE DIALYSATE, ENHANCED   $      31.14  EA 
M43612 DIALYSE BACKFLOW HOSE, RED   $      86.28  EA 
M43613 DIALYSE INFLOW HOSE, BLUE   $    180.56  EA 
M43614 INTERLOCK SHUNT UNIT   $    305.32  EA 
M43650 INLET/DRAIN TUBING SIL. BLUE/BLACK 3 MTR   $    127.17  EA 
M44189 LEVEL DETECTOR SHORT RAIL   $      20.24  EA 
M45571 PUMP HOUSING, UF/CONC/BIC, WAS 672777   $        6.36  EA 
M45806 RINSE PORT II, BICARBONATE   $      68.64  EA 
M46096 HANDLE WITH MAGNET, BLUE   $      16.13  EA 
M46097 HANDLE WITH MAGNET, RED   $      16.13  EA 
M46397 NUT, M4 SERRATED, ZINC PLATED   $        0.08  EA 
M46403 STANDOFF, M-F 7MM HEX, M4 X 30, ZINC PL   $        1.14  EA 
M46410 CONDUCTIVITY CELL   $    100.53  EA 
M46428 RETAINING PLATE FOR HEATER BLOCK   $      16.38  EA 
M46513 MOTOR BRUSH, HARD 12MM   $        2.16  EA 
M46514 MOTOR BRUSH, SOFT, 12MM   $        2.16  EA 
M47414 RINSE PORT II, CONCENTRATE   $      71.68  EA 
M48341 TITO FILTER 5.5 MM BARB   $        4.34  EA 
M48341   TITO FILTER 5.5 MM BARB *  $        4.34  EA 
M49706 MOTOR, BLOOD PUMP (DC, GEAR DRIVE, REM.   $    297.69  EA 
M49706 MOTOR, BLOOD PUMP (DC, GEAR DRIVE, REM.   $    297.69  EA 
M50328 LOADING PRESSURE VALVE DIASAFE   $      33.24  EA 
M51034 TUBING WITH GLASS ORIFICE   $      12.13  EA 
M51056 O-RING 48X2.8   $        0.95  EA 
M52821 HEAT EXCHANGER, 2008   $    109.44  EA 
M52941 SCREW CAP, WHITE   $        1.09  EA 
M53354 CONNECTING PLATE, USA *  $        2.60  EA 
M55508 RATIO SOLENOID VALVE, OVERMOLDED, SINGLE   $      39.06  EA 
M64584 THERMISTOR ASSEMBLY   $      50.67  EA 
PLFIJG00969 3/8" TUBE WYE CONNECTOR   $      11.50  EA 
PLGAOO00911 PRESSURE GAUGE   $      56.51  EA 
PLVABR01040 3/8" ASCO SOLENOID VALVE   $    260.97  EA 
SUCAOO00547 FILTER, 10" BB, 3 LB CARBON BLOCK   $      68.91  EA 
SUCAOO00550 FILTER, 5 MICRON, 10" SEDIMENT   $      16.73  EA 
SUCAOO01934 FILTER, .05 MICRON, BACTERIA/ENDOTOXIN   $    276.65  EA 
SUMCOO00576 MINNCARE RESIDUAL TEST STRIPS   $      81.42  EA 
SUMCOO00577 MINNCARE 1% TEST STRIPS   $      90.46  EA 
SUMEM01340 MEMBRANE, MEDI-PORT PBII R.O.   $    839.86  EA 
Z11656 KIT, CHLORINE TEST   $      42.45  EA 
Z12093 HOUSING, SS 40"   $    380.34  EA 
Z12103 END CAP WASTE   $    122.99  EA 
Z12104 END CAP INPUT/PRODUCT   $    125.70  EA 
Z12110 MANIFOLD   $    441.55  EA 
Z12131 PROBE ASSY   $      41.74  EA 
Z12141 CABLE, POWER CORD   $      51.37  EA 
Z12168 PUMP ASSY, FOR INSERT   $    581.42  EA 
Z12174 INSERT, MAIN CHASSIS ASSY   $ 4,558.00  EA 
Z12175 BRACKET, INSERT MOUNT   $      11.72  EA 
Z12200 CABLE, REJECT BRD TO SENSORS   $      61.06  EA 
Z12209 CABLE, MOTOR CORD, INSERT   $      42.78  EA 
Z12220 MANIFOLD ASY W/THERMOMTR F-800   $    302.70  EA 



FRESENIUS MEDICAL CARE - SPARE PARTS PRICE LIST 
Part# Description BlueStar Price U/M 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

PAGE 28 5/15/2019 450347 Rev R 

Z12310 PCB ASSY, % REJECTION, NEW   $    162.97  EA 
Z12312 PCB ASSY, DISPLAY, NEW   $    233.78  EA 
Z12315 POWER SUPPLY ASSY, F-800   $    222.28  EA 
Z12320 KIT, ROMA MOUNT F-800   $    226.18  EA 
Z12321 MONITOR/CONTROLLER ASSY,F-800   $ 1,561.22  EA 
Z12323 CABLE, SONALERT ASSY, F-800   $    185.71  EA 
Z12326 CABLE, INTERCONNECT F-800   $        7.20  EA 
Z12327 CABLE, PCB POWER F-800   $      44.43  EA 
Z12334 SPACER, TANK STAND, ZYZA ONLY   $    142.45  EA 
Z12340 F800 REV OSMOSIS SYS   $ 7,591.91  EA 
Z1234489 REGULATOR, WATER, PLASTIC, 1/4 FNPT, R45   $    136.55  EA 
Z1235113 KIT, RETROFIT, MILLENIUM WATER REGULATOR   $    297.90  EA 
Z12355A SPACER, ALUM F-800 CART, NEW   $    151.47  EA 
Z12360 KIT, CART ONLY FOR FRESENIUS   $ 2,386.17  EA 
Z12386 CARBON REBED KIT   $    120.95  EA 
Z12613 QD,MALE,¼MPTX¼FLO,NO VALVE   $      15.74  EA 
Z12731 QD, MALE, RED, 3/8BRB X 1/4FLO, W/VL   $      22.57  EA 
Z12733 QD, 3/8 HOSE X 1/4 FLO, RED, FEMALE   $      32.29  EA 
Z12734 QD, 3/8 HOSE X 1/4 FLO, GRN, FEMALE   $      32.29  EA 
Z12886 QD, 3/8 NPT X 1/4, GREEN, MALE   $      31.43  EA 
Z13000 BREAK TANK,F800 & F801 RO SYS.   $ 2,623.32  EA 
Z13011 PRETREATMENT CART 2 @6" TANKS   $    996.43  EA 
Z14398 STRAP, SHORT PRETREAT W/O TANG   $      26.28  EA 
Z14399 STRAP, SHORT PRETREAT WITH TANG   $      26.28  EA 
Z14556 CART,PRE TX,2 TANK,6"   $    982.20  EA 
Z14597 DE-ALKALIZER TANK, SEMI-AUTO, 0.4 CU.FT   $ 1,755.00  EA 
Z14693 MANUAL, MILLENIUM RO UNIT, OPER & MAINT   $      37.96  EA 
Z14726 MANUA, ZYZA, MIL SYS   $      69.60  EA 
Z14754 KIT,PRE-TRTMNT,M1 CART,3-6"TNK   $ 1,706.47  EA 
Z20177 LENS COVER FOR LED, CLEAR   $        1.38  EA 
Z20203 SWITCH, POWER, DPST   $      10.50  EA 
Z30005 SONALERT, 4-24VDC, PANEL MOUNT   $      71.07  EA 
Z30014 MOTOR, 1/3 HP, 115/230, 60/50, GE   $    269.44  EA 
Z30026 KNOB, SELECTOR, BLACK   $        8.16  EA 
Z3024194 TANK, CARBON EXCH, 0.85 CF, NO FITTINGS   $    291.20  EA 
Z3024195 TANK, CARBON EXCH, .85CF, W/HOSE KIT   $    378.56  EA 
Z3027145 FILTER, CARBON BLOCK, CARTRIDGE, PTG-520   $    165.48  EA 
Z3027335 CARBON BLOCK KIT, STD   $ 1,649.44  EA 
Z3027619 FILTER,CARBON BLK,4.5"X20" CHLORAMN,FMS   $    254.54  EA 
Z3027753 KIT, TEMP GAUGE, CARBON FILTER   $      85.28  EA 
Z3027856 M2 ERGO CART PACKAGING ASSY   $ 2,253.68  EA 
Z3027858 KIT, PREFILTER, ERGO CART   $    450.07  EA 
Z3027950 KIT ERGO DOCKING STATION ASSY   $ 3,410.26  EA 
Z40080 FITTING, NIPPLE, 3/8 X SHORT, PVC   $        2.52  EA 
Z40093 O-RING, A-116 BUNA   $        0.55  EA 
Z40095 WASHER, RUBBER, GHT   $        0.75  EA 
Z40165 PUMP,  SS, 100GPH, FLUID-O-TECH   $    506.82  EA 
Z40215 PLUG, 1/4 NPT, PE   $        1.36  EA 
Z40222 TUBE. BRINE REFILL   $      13.29  EA 
Z40229 BRINE WELL   $      77.16  EA 
Z40268 FITTING, GHT X 1/2 MNPT, STRAIGHT   $        5.42  EA 
Z40268A GHT * 1/2 MNPT, ELBOW   $        8.30  EA 
Z40291 VALVE, BALL 1/4MNPT   $      54.36  EA 
Z40315 O-RING, A-229   $      10.98  EA 
Z40316 VALVE, BALL, PVC, 1/4 X 1/4 FNPT, BK   $      27.39  EA 
Z40332 O-RING, A-014   $        1.51  EA 



FRESENIUS MEDICAL CARE - SPARE PARTS PRICE LIST 
Part# Description BlueStar Price U/M 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

450347 Rev R 5/15/2019 PAGE 29 

Z40456 WHITE QD MALE 1/4" FLO X 3/8   $      17.41  EA 
Z40465 QD, 3/8 TUBE X 1/4 FLO, FEMALE   $      38.08  EA 
Z40561 UNION, BULKHD 3/8SF X 3/8SF   $        9.56  EA 
Z40564 ELBOW, 3/8SF X 3/8STEM   $      12.54  EA 
Z40568 FITTING, ELBOW, 3/8T X 3/8 NPT SF   $      16.07  EA 
Z40569 ELBOW, SWIVEL, 3/8SF X 1/4MNPT   $        7.81  EA 
Z40570 ELBOW, SWIVEL, 1/4SF X 1/4MNPT   $      10.37  EA 
Z40571 LOCKCLIP, 3/8", SF   $        0.81  EA 
Z40572 LOCKCLIP, 1/4", SF   $        0.81  EA 
Z40581 ADAPTER, 1/4 MPT X 3/8B, MALE   $      16.36  EA 
Z40584 VALVE, CHECK, INSERT, 5#   $      16.31  EA 
Z40672 FITTING, ADAPTER, 3/8" STEM X 3/8" BARB   $        3.53  EA 
Z40676 FTTNG, NIP 1/4 * CL SCH 80 PVC   $        2.39  EA 
Z40677 UNION, BULKHD, 1/4SF X 1/4SF   $      12.54  EA 
Z40693 QUICK DISCONNECT, FEMALE   $      32.29  EA 
Z40696 FILTER, 5 MICRON, 9 7/8"   $    128.13  EA 
Z40698 FILTER, CARBON, 9.75", S-700   $      28.24  EA 
Z40716 QD, HOSE X 1/4 FLO, FEMALE   $      44.48  EA 
Z40717 QD, 1/4 NPT, 1/4 FLO, MALE, NO VLV   $      10.25  EA 
Z40738 GHT X 3/8, MNPT, ELBOW   $        4.57  EA 
Z40741 GAUGE, 100 PSI, BOTTOM MOUNT   $      45.76  EA 
Z40742 FITTING, ELBOW, 1/4SF X 1/4STEM   $      10.64  EA 
Z40743A ELBOW, 3/8T X 3/8T, SCH 80   $      14.06  EA 
Z40750 FTTNG EL 3/4 STREET PVC   $        9.12  EA 
Z40762 QD,3/8HOSE X 1/4FLO,FEMALE,W/O CHECK VLV   $      26.43  EA 
Z40765 3/4 NUT/HOSE SWIVEL   $        2.44  EA 
Z40947 GAUGE,1.5",100 PSI,1/8"MNPT CBM,LIQ.FILL   $      69.66  EA 
Z40948 GAUGE,1.5",300 PSI,1/8"MNPT CBM,LIQ.FILL   $      32.52  EA 
Z50017 F-800 DUAL WHEEL   $      80.75  EA 
Z50033 TEST KIT, HARDNESS   $      35.95  EA 
Z50041 COUPLER, PUMP/MOTOR BRONZE   $        8.93  EA 
Z60018 FSTNER, RHMS SS 1/4-20 X 3/4   $        0.59  EA 
Z60019 FSTNR, HHMS 1/4-20 X 1/2 SS   $        0.47  EA 
Z60020 TUBE, 3/8" PE NATURAL   $        1.92  IN 
Z60032 TUBE 3/8" POLYPRO   $        0.40  IN 
Z60068 FSTNR PHMS 10-32 X 3/8   $        0.70  EA 
Z60082 FSTNR, PHMS 8-32 X 3/8   $        0.79  EA 
Z60183 KNURLED KNOB   $        7.13  EA 
Z60198 FSTNR PHMS 8-32 X 1/2   $        2.21  EA 
Z60216 RO SCREW   $        0.75  EA 
Z60291 FSTNR HHMS 1/4-20 X 1 1/2SS   $        1.34  EA 
Z60376 FSTNR 6X1MM X 100MM HH F800   $        2.17  EA 
Z60394 WRENCH, FILTER HOUSING   $      11.02  EA 
Z70003 WATER ANALYSIS KIT   $        0.04  EA 
Z90342 KIT,CONVERT 2 TANK TO 3 TANK.   $    472.17  EA 
Z90411 3 TANK RACK, (DI), 8" DIA.   $ 1,795.41  EA 
ZME70001 WATER ANALYSIS, AAMI, STDS   $    427.23  EA 
ZME70006 WATER, ANALYSIS, RUSH ADDER   $    149.26  EA 
 
 
 
 
 



 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

PAGE 30 5/15/2019 450347 Rev R 

 
TUBING 

 
Part# Description Price U/M 

545210 TUBING, PVC, NYLON BRAIDED, 10 X 16 (ROLL)  $   292.28  2362.20" 
    
M40038 TUBING, PVC, NYLON BRAIDED, 10 X 16 (10 FT) (545210)  $     22.81  1 EA 
    
545325 TUBING, SILICONE, 3 X 7MM (ROLL)  $   340.66  1968.50" 
    
M38205 TUBING, SILICONE, 3 X 7MM (10 FT) (545325)  $     16.33  1 EA 
    
545356 TUBING, SILICONE, WHITE, 3 X 1.5MM (ROLL)  $ 1372.88  1968.50" 
    
M38207 TUBING, SILICONE, WHITE, 3 X 1.5MM (10 FT) (545356)  $    26.08  1 EA 
    
545361 TUBING, SILASTIC, 5 X 3MM (ROLL)  $  601.24  1968.50" 
    
M38208 TUBING, SILASTIC, 5 X 3MM (10 FT) (545361)  $    30.96  1 EA 
    
545372 TUBING, REINFORCED SILASTIC (ROLL)  $  597.86  1968.50" 
    
M38210 TUBING, REINFORCED SILASTIC (10 FT) (545372)  $    30.96  1 EA 
    
642391 TUBING BRAID 5X11, WAS 545204 (ROLL)  $    48.71  393.70" 
    
545320 TUBING, 3MM ID, 1.0MM WALL, SILICONE  $      0.71  INCH 
    
545350 TUBING, 5MM, 1.5MM WALL, SILICONE  $      0.25  INCH 
    
545364 TUBING, 3MM ID, 2.5MM WALL,SILICONE, BLUE  $      0.54  INCH 

 
 
 

DISPOSABLE SUPPLIES 
 

Part # Description Price Packaging 
 

5008203 Diasafe Plus Filters $ 590.09  1 case (10 each) 
 
335130-01 pH Test Strips 6 - 8 $   20.73  1 box (100 each) 
 
335100-01 Dialyzer Blood Port Caps $   39.48  1 bag (1000 caps) 
 
335101-01 Dialyzer Dialysate Port Caps $   53.15  1 bag (1000 caps) 
 
335102-03 Poly Bags 4 mil 6 x 20 $ 110.53  1 box (1000 each) 
 
 

 



FRESENIUS MEDICAL CARE - EXCHANGE PARTS PRICE LIST 
 Exchange Exchange 
Part# Description Price Price Credit 

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE 
FOB FACTORY. MINIMUM ORDER $50.00.  SUBJECT TO TERMS OF SALE. 

450347 Rev R 5/15/2019 PAGE 31 

190011 ASSEMBLY, POWER SUPPLY, UPPER   $    740.69   $    333.31   $    407.38  
R190011 ASSEMBLY, POWER SUPPLY, UPPER (REFURB)   $    740.69   $    333.31   $    407.38 
 
191111 ASSEMBLY, POWER SUPPLY, UPPER BLUESTAR *  $    752.19   $    323.44   $    428.75 
R191111 ASSEMBLY, POWER SUPPLY, UPPER BLUESTAR (REFURB) *  $    639.36   $    274.92  $    364.44 
 
677971 HEPARIN PUMP, MOD, ROSE GREY   $ 1,784.10   $    802.84   $    981.26  
R677971 HEPARIN PUMP, MOD, ROSE GREY (REFURB)   $ 1,560.87   $    702.40   $    858.48  
 
F40008688 BLOOD PUMP MODULE BLUE STAR *  $ 3,163.30   $ 1,423.48   $ 1,739.82  
RF40008688 BLOOD PUMP MODULE BLUE STAR (REFURB) *  $ 2,997.41   $ 1,348.83   $ 1,648.58  
 
M30340 LEVEL DETECTOR, MOD,ROSE GREY   $ 2,263.25   $ 1,064.91   $ 1,198.34  
RM30340 LEVEL DETECTOR, MOD,ROSE GREY (REFURB)   $ 2,107.25   $    948.26   $ 1,158.99  
 
M30656 BLOOD PUMP, MOD, ROSE GREY   $ 3,163.30   $ 1,423.48   $ 1,739.82  
RM30656 BLOOD PUMP, MOD, ROSE GREY (REFURB)   $ 3,007.30   $ 1,353.28   $ 1,654.02 
 
 
 
 
 
 
 



 

PAGE 32 450347 Rev R 

 
 

REPLACEMENT PARTS TERMS OF SALES 
 

 Sale of the replacement parts described or referenced herein is expressly conditioned upon the terms and conditions set forth 
below.  Any additional or different terms or conditions set forth by the Purchaser to Fresenius Medical Care shall not be 
effective or binding, and terms set forth herein shall not be modified or amended, unless assented to in writing by an 
authorized official of Fresenius Medical Care in Concord, California.  Parts delivered as replacement parts may be new or 
refurbished at the option of Fresenius Medical Care. 

 
LIMITED WARRANTY:  Fresenius Medical Care warrants to the Purchaser that replacement parts are free from defects in 
material or workmanship for the periods specified below, provided the original equipment is used and maintained in 
accordance with the manufacturer’s instructions: 

 
• Replacement parts shall be warranted for ninety (90) days from the date of shipment when installed by 

Fresenius Medical Care personnel or by personnel authorized by Fresenius Medical Care to install such parts. 
 
• Consumable items such as lamps, fuses, filters, etc., shall not be warranted. 

 
Fresenius Medical Care will repair or replace, at its option, and use new or reconditioned parts and/or subassemblies, any 
parts subject to warranty which are proven defective in materials or workmanship.  Such repair or replacement will be made 
without cost to Purchaser, and Fresenius Medical Care reserves the right to determine the location at which the repair or 
replacement will be accomplished. 
 
The Warranty does not apply to any equipment which is misused, abused, neglected, tampered with, damaged by accident, 
flood, water, fire or other hazard, subjected to abnormal or unusual electrical or fluid stress, improperly installed or operated, 
or not maintained in accordance with the routine maintenance schedule set forth in the technician’s manual for the equipment. 
 
THE FORGOING WARRANTY SHALL BE IN LIEU OF ANY OTHER WARRANTY, EXPRESSED OR IMPLIED 
OR STATUTORY, RESPECTING THE EQUIPMENT OR ANY PARTS OR COMPONENTS THEREOF. 
FRESENIUS MEDICAL CARE MAKES NO IMPLIED WARRANTY OF MERCHANTABILITY OR FITNESS 
FOR A PARTICULAR PURPOSE.  THE PURCHASER’S SOLE AND EXCLUSIVE REMEDY IN CONTRACT, 
TORT OR UNDER ANY OTHER THEORY AGAINST FRESENIUS MEDICAL CARE SHALL BE THE 
REPLACEMENT OR REPAIR OF THE EQUIPMENT AND PARTS AS DESCRIBED ABOVE.  NO OTHER 
REMEDY (INCLUDING, WITHOUT LIMITATION, CONSEQUENTIAL DAMAGES) SHALL BE AVAILABLE 
TO THE PURCHASER. 
 
Fresenius Medical Care shall have no further obligation or liability with respect to the equipment or parts or their sale, 
operation and use.  Fresenius Medical Care neither assumes, nor authorizes the assumption of, any obligation or liability in 
connection with such equipment and parts. 
 
CANCELLATION:  The Purchaser may cancel an order upon written notice prior to shipment from the factory. 
 
TERMS: Payment - Net 30 days. Pricing - FOB shipping point plus sales and any applicable taxes.  Fresenius 
Medical Care prices lists do not include sales, use, excise or similar taxes.  Consequently, in addition to the prices specified 
herein, the amount of any present or future sales, use, excise or other similar tax applicable to the sale or use of the equipment 
thereunder shall be paid by the Purchaser, or in lieu thereof, the Purchaser shall provide Fresenius Medical Care with a tax 
exemption certificate acceptable to the taxing authorities.  The minimum order is $50.00.  Past due accounts may be assessed 
a service charge at a rate of 18% per annum (or maximum allowed by the applicable state law, whichever is less). 
 
SHIPPING:   Fresenius Medical Care will use its own judgment in determining the most effective method of shipping unless 
otherwise specified by the Purchaser.  Costs of such special handling or rush orders shall be added to the invoice or sent 
freight COD. 
 



 

450347 Rev R PAGE 33 

 
 

EXCHANGE PARTS TERMS OF SALE 
 
 
 
RETURNED GOODS AUTHORIZATION 
 
Returned Goods Authorization (RGA) number must be obtained from the Customer Service Spare Parts Department.  Goods 
returned without an RGA cannot be accepted.  It is the responsibility of the Purchaser to obtain the RGA and return the core 
to Fresenius Medical Care. 
 
 
 
CORES 
 
All parts (cores) returned under the exchange program must be authorized in advance with a Returned Goods Authorization, 
even if the part is removed by Fresenius Medical Care personnel.  Cores must be clearly labeled with the RGA number and 
symptom or problem on the Material Traveler Tag.  Cores that are damaged or non-repairable will not be eligible for credit. 
 
 
 
PRICING 
 
The initial sale of all parts (including exchange parts) will be invoiced at the full list price, or as specified by applicable 
Service Contract.  The credit shall be the difference between the current exchange price and the actual invoice price. 
 
 
 
PARTS 
 
Only parts specifically listed in the exchange parts price list are included in the exchange program.  Fresenius Medical Care 
reserves the right to discontinue a part from the exchange program at its discretion.  Parts supplied under the exchange 
program shall be new or refurbished at the discretion of Fresenius Medical Care.  Parts purchased from vendors other than 
Fresenius Medical Care will not be accepted under Fresenius Medical Care Returned Goods Policies and use of such will 
void all applicable warranties. 
 
 
 
RETURN 
 
All parts should be returned FREIGHT PREPAID within the allotted time period to: 
 
 
 FRESENIUS MEDICAL CARE 
 4040 NELSON AVENUE 
 ATTN:  DOCK ″B″ 
 CONCORD  CA  94520 
 
 
 



 

PAGE 34 450347 Rev R 

 
 

RETURNED GOODS AUTHORIZATION (RGA) 
POLICIES AND PROCEDURES 

 
To our valued customers: 
 
The following information is an overview of the Terms and Conditions regarding the return of parts. Please take a moment to 
review this material to help us ensure that you receive proper credit for returned parts. 
 
1. Parts returned under the Exchange Program for credit should be in repairable and/or reusable condition. Credit cannot 

be issued for parts that are received damaged or otherwise non-repairable. In such circumstances, you will be notified 
in writing of any item which is non-repairable. 

 
2. Parts under the Exchange Program must be returned to Fresenius Medical Care under a Returned Goods Authorization 

(RGA). Upon your request, an RGA will be processed by a Fresenius Medical Care Customer Service Representative 
at the time of your order. The RGA number will be referenced on the order form enclosed with the replacement part.  
If you do not request an RGA at the time of your order, an RGA can be requested within 90 days of the date of 
purchase. Every part returned to Fresenius Medical Care must have a corresponding RGA. 

 
3. Exchange parts, under an RGA, must be returned to Fresenius Medical Care within 90 days of the purchase date for 

proper credit. Parts received in excess of 90 days will not be credited and the associated RGA will be cancelled. 
Freight charges are the responsibility of the purchaser. 

 
4. With every RGA order a Material Traveler Tag is included with the replacement part. This yellow tag is important 

since it provides us with necessary information to process your credit. In situations in which the part(s) cannot be 
repaired and credit cannot be issued, please indicate on the Material Traveler Tag whether you wish to have these parts 
returned to you or discarded. Return freight charges are the responsibility of the purchaser. 

 
5. Please take time to fill in the Material Traveler Tag and securely attach it to the part(s). If either the Material Traveler 

Tag or RGA form is not enclosed with the replacement part(s), please contact the Parts Customer Service Department 
at (800) 227-2572, option 3. A Customer Service Representative can fax you a copy of the RGA or we can provide the 
RGA number to be recorded on the Material Traveler Tag. 

 
6. To properly credit your account, parts must be returned with the RGA number and completed Material Traveler Tag. If 

either of these items is not included we cannot process your credit. Parts returned to Fresenius Medical Care but not 
recorded on the RGA will not be credited. 

 
7. Replacement parts under warranty must be returned to Fresenius Medical Care within 30 days. Warranty 

parts not returned to Fresenius Medical Care within 30 days will be invoiced at list price. Returned parts that 
are not actually under warranty, based upon the manufacture date, will also be invoiced at list price. 

 
Should you have any questions regarding this material, our Customer Service Representatives are available to assist you. 



 

450347 Rev R PAGE 35 

 
 

INSTRUCTIONS TO RETURN PARTS 
 
 
1. The computer generated RGA in most cases will be included in the box with your replacement parts.  There will be 

one copy of the RGA.   
 
2. Complete the MATERIAL TRAVELER TAG and securely attach to the part. 
 
3. Only those parts listed on the RGA are eligible for return.  Hand written additions will not be credited without prior 

authorization from the Customer Service Department.   
 
4. Items listed as “Warranty Replacement Items” must be returned within 30 days to avoid invoicing. 
 
5. Items listed as “Credit Due Item” must be returned within 90 days from the date the parts were originally ordered.  

After 90 days the RGA will be deleted from the system, and no credit will be issued. 
 
6. All items on a single RGA form must be returned together. 
 
7. Please pack returns to arrive safely.  Damaged or unusable parts will not be credited. 
 
8. Please use the bright ORANGE address label to return parts.  If possible, use the same box in which your 

replacement parts were shipped. 
 
9. Indicate the total number of boxes in you shipment of the Returned Goods Label. 
 
10. Clearly write the RGA number of the Return Goods Label. 
 
11. Be sure all boxes are marked sequentially. 
 
12. Parts purchased from vendors other than Fresenius Medical Care will not be accepted under Fresenius Medical Care 

Returned Goods Policies and the use of such parts will void all applicable warranties. 
 
13. PLEASE SHIP YOUR RETURN WITH THE FREIGHT PREPAID 
 (You may choose any of the carriers or postal service for your returns.) 
 



 

PAGE 36 450347 Rev R 

 
 
 
 

 
 

OUT OF BOX FAILURE? 

MACHINE S/N & HOURS 

RGA NUMBER 

PART NUMBER 

S/N OF PART IF APPLIES 

YOUR NAME AND DATE 

PLEASE INDICATE IF 
  

  
   MODEL IF APPLICABLE 

REPAIR RECORD# IF APPLIES 

YOUR FACILITY NAME 

NAME OF PART 

CRITICAL - PLEASE WRITE 
THE PROBLEM/SYMPTOM 



 

 

 
 
 
 
 



 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

4040  NELSON  AVENUE  CONCORD  CA 94520                                      (800) 227-2572 


